Directions : Answer  the foﬂow:’ng questions
(0. Nos. 1 to 30) by selecting the correct/most

appropriate options.
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To promote meaningful learning in the

classrooms, a teacher should —

(i) help students to regulate their

. own emotions and motivation.

(i) categorize -and label students
according to their performance
and make ability-grouping.

(iii)  promote dialogue and discussion
among  children to bu1ld_,
multiple perspectives.

(iv) ignore diversity in the classroom
and follow standard methods of

instruction.

(1) (), (iii), (iv) o
) (@), (ii), (iii), (iv) Eﬁ

(3) - (), (iii)
@) (i), (iii)

‘Which of the following is NOT an

effective strategy to address learners

from disadvantaged and depnved

backgrounds ? _

(1) - Motivate the students to - set
moderately challenging goals and
provide appropriate instructional
support. . ,

(2) Form collaborative groups to work

~ on activities and encourage
- students to support each other.

(3) Talk to the learners to understand

their needs and challenges faced
. by them.

(4)  Asking the learners to enroll for
tuition ‘outside of school so that
the teacher does not have to pay
much attention to them

: physical and  emotional - health' of

children their learning.
(1) isnot related to

(2) has an insignificant role in

(3)  does not have any influence on
(4) plays an important role in
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It is important to Create
learning environment i

rather than one.

_—_'_————.__
(1) fearful; facilitative
(2)  competitive; facilitative
(3)  collaborative; competitive
(4) competitive; collaboratjye
Which of the following is an example of
effective  motivational

strategy to
encourage students to learn ?

(1)  Giving tasks that are Very easy.

(2) Creatin_g.a lot of opportunities for
competition.

(3)  Providing scaffolding especially
when students learn a new skill.

(4) Emphasis on completion of work

rather than learning,

- Which of the following statements about

children’s thinking is NOT correct ?
(1) Children actively think about
various phenomenon around them
and have an urge to explore.
Children are born with curiosity to
learn about the world around
them. _ i
Children construct their ~ own
theories about various
phenomenon around them.

Children cannot think of concepts
on their own and the primary role

()

©)

4

of teachers 1is to provide
information.

Learning is a and

process.

(1)  simple; individual

(2)  complex; passive

(3) complex; active

(4) simple; linear

A teacher should thfa ?‘“Fi".l*
cultural, religious and - linguistic

diversity in her classroom to facilitate
meaningful learning. y

(1)  understand
(2) neglect

(3) dismiss
(4) ignore

*—-———_‘
n the classroom

(©)]

|

|
|
l
|
|
|
|
|

4.

8.

-

ﬁq%f@aﬂﬁaﬁqmmﬁmﬁfﬁﬁ

% fiu i FH F g

IEITE 9gfi R 7

o %1 31 N 5 Tgm e @ |

 weRnfirena & R aga @ s

3G FHAT | _

98 39T HET - faSer w9

foemefi P T s de R 8 |

(4) éﬁ@%ﬁmmqp{wmaﬁ
: _

= & fad % g § Aeferfea § S ar
FAGE AE @ 7 '
s £ TLE
Prci
g 3R 7 a=Rww (BH-dH) €
AT B 2 |

2) "= FW U H Fgei H;
WA % o ST s e E 1

() "= W Im-tm H Ry
AT F 9R T = o fagial
HTEATHQE |

@) = v W o T A ww
IR soms B gE yfer =
SHHRI 3Ty HUAT R |

rftrma, T 3k sr R |

() o ; st

(2) - Sfewr; Aifer

(3) wifew; afra
ara;iﬁas

S e 3 arelel e ) garer TR

%mmgmm R,

Hiepawn, wififes, smitg fafagarsr

iR |

(1) @WeEAr

(2) IFCETHA

(3) ere

4) Cacl

e T T e N —




10.

11.

In a classroom - teachers
adapt their Pedagogy and vary
assessment to cater to individual
students,

(1) textbook-centric _

(2)  behaviouristic

3) teacher-centric

4) progress'ive

Children’s failure in school-

(1) proves that these children have
genetic birth defects and hence
should be pulled out from school.

(2) signifies that parents have not
been able to support their children
to learn. -

(3) suggests that children = from
deprived backgrounds are hot
capable of learning,

(4) indicates that school has not been
able to cater to the needs and
interests of these children.

By working in groups, teaching and

helping each other, children

(1)  get distracted and hence it is an
ineffective pedagogical strategy.

(2) develop ' competitive tendencies -
that hinder learning, .

(3) are able to ;cﬂect on-iheir own
thought processes and sh.ii.’t .to a
higher level of cognitive activity.

(4) candevelop misconceptions which

interferes with their .lca:_‘mng.

(4)
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12.

13.

14.

15.

School socialization of
children.

(1) isaprimary agency of

(2) isasecondary agency of

(3) does not pléy any role in

(4)  plays very little role in

Which of the following theorists

proposed that children’s thinking is
qualitatively different from that of
adults ?

(1
)
€)
(4)

Howard Gardner
Lawrence Kohlberg
Jean Piaget

Lev Vygotsky

development is correct ?

(1)

2

3)

)

Development “occurs in a neat,
orderly set of  stages
predetermined by genetic factors.

Development is simple and uni-

dimensional.

There is a lot of cultural diversity
in the development of children.

Children across the world follow
the same sequence and exact time
of development.

Which of the following is a major
hallmark .of the period of middle
childhood ?

M

L

3)
(4)

Rapid development of motor skills
and overall physical growth.

Development " of  scientific
reasoning and ability to think
abstractly.

Emergence of make»believe play.

'Development of  logical thought
that is concrete in nature.

)
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Which of the following statements about

12.

13.

14.

15.
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16.

17.

"18.

19.

According to Jean Piaget, children in
formal operational stage

(1) cannot conserve, classify and
seriate,

(2)  begin to engage in make-believe
and symbolic play.

() are capable of hypothetico-
deductive reasoning and

Propositional thought.

are bound by centration and
mreversibly of thought.

@

At which stage of Lawrence Kohlberg’s
theory of moral development do
individuals  believe that  actively
maintaining the current social system
ensures positive human relationships
and societal order ?

(1) The instrumental

) purpose

orientation '

(2) The universal ethical principle
orientation

(3) The punishment and obedience
orientation

(4) The social-order maintaining
orientation

During the period of childhood,

development —- RO

(1) consists only of ‘quantitative
changes.

(2) is disorderly and disjointed.

(3) isslow and cannot be measured.

(4) is multi-layered and complex.

¢Zone of proximal development’ is -

(1) the process where two individuals
who begin with  different
understandings arrive at a shared
understanding.

the process in which children learn
to perform tasks as set by the elder
members in a society.

@)

€)

level of independent performance
and the level of performanf:e that
the child could achieve wnth. the
help of adults and more skilled

peers. i
‘range ©
:hould pe able to do as

but cannot.

ks ‘that the child
4)

the area between a child’s current

per her age .

(6)
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20.

G

21.

22,

In a progressive classroom, assessment
~of " learners during of

teaching-learning —
(1) is helpful in identifying ‘high’,
‘low’ and ‘non’ achievers for the

purposes of giving feedback to the
parents,

the process

(2) is very important since it gives
insights into children’s
understanding and helps the teacher
to reflects on her pedagogy.

is not at all helpful in children’s
learning. .

©))

creates a hindrance in the process
of children’s learning,

Which of the following is a correctly
matched pair of type of intelligence and

end-state performance possibilities as ]

per Howard Gardner’s theory of -
multiple intelligences ?. , s
.. . Types of End-state
Intelligence . performance
possibil_ity
(1) Linguistic — Sculptor
(2) Bodily-kinesthetic ~— Athlete
(3) Spatial - — - Therapist
(4) Intra-personal — Salesperson

-According to Lev Vygotsky —

(1) children’s cognitive development
occurs in stages.

(2) ‘maturation of schemas leads to |
cognitive developmeﬁt in children.

(3) language plays an important role
in cognitive . development of
children.

(4) children learn langqége through a

‘language acquisition device’.

)

et Bt Sk W T —— ———

20.

21.

22,

T rferefier e 3 Reror — aﬁmuﬁw

%ﬁtﬁ&fﬁmﬂaﬁmm |
(1) e H wfagl 3 % wieE
¥ I WHE, FW GHA

“ITEHE’ ﬁmﬁh’(aﬁﬂaﬁﬂiﬁ
HEE gt B |

%G HEwY ], Hifh a8 w1 I
Ty H IHe @ & 3R
HAAH H 3 - W

)

forame & wETr AT # |
(3) == % 3 T weEs TE R |
@ =i i wfen § wwEe
I TR | i

Bas MR % wg-9fg Rrgia 5 gER
Frafafea & @ ®F @ J91 78 F THR
3R sra-fRafy T d9EAT % SIHER
TR ?

. gfg FIFR Fa-fRafa
(1) Wiy B S EAL
Q) wWisnfi-tdem - Read
(3) i . - TR
(@ Fauaates S CET
éawﬁaaﬁr%aﬁm—_
(1) =i % GAS e S i
o RWdl
@ wm % qhwes F =i A
. ETHTCH faeTe EE e |
() W= % Gy e J Wi R
T e T € |
4) = I fEES T GRT W

HrEad g |



26.

0
23. A child-centered classroom is one in
) WhiCh )
E (1)  the -teacher ygeq rewards and
Punishmenptg to direct children’s
* behavioyr, _
(2) the teacher g flexible ang caters to
needs of individya] children,
(3) the teacher ygeg the textbook as
the only source of knowledge,
4) - the teacher Segregates the children
based on their abilities,

24.‘ According to which theorist “cultyral
tools’ play an important role jp cognitive
development of childrep 2
(1) Albert Bandura
2) B.F_. Skinner
(3) Lev Vygotsky
(4)  Jean Piaget

25. An effective classroom strategy to
reduce gender stereotyping  anq
broadening developmenta] Possibilities
for all sexes s
(1) -forming, same-sex ability

groupings,
(2)  forming mixed-sex activity groups
and promote discussion.
(3) to ignore and dismiss biological
differences among the sexes,
(4) to reinforce gender roles g
portrayed in the society.
Multilingualism in 2 classroom needs to
be understood as by the
teachers.
(1) aproblem
(2)  asystemic issue
e
(3)  an asset and resourc
(4)  ahindrance
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217.

28.

29.

30.

@

Needs of gifted and creat
be addressed by

(1)

ive children can

providing specific instructions to
solve problems.

(2) administrating memory  based
tests.

(3) giving challenging tasks and
activities to prevent boredom.

(4) giving questions that require
convergent thinking,

Children  with ‘dyslexia® can be

identified by o

(1) analyzing their reading and
writing skills.

(2)  assessing their ability to solve
complex higher-order problems.

(3) finding out their social and
cultural context.

(4)  a thorough physical health check-

up.

Which of the following is NOT a suitable
learning material for students who are
partially sighted ?

(1) Talking books, felt bulletin boards -
(2)  Small-print worksheets

(3)  Large-print books

(4)  Three' dimensional maps and

charts

The underlying belief behind ‘inclusive
education’ is

(1)

provisioning of special education
institutions  for children with -
different handicaps. ]

the philosophy that all children
have a right to get equal education
in a regular school.

segregation of children on the
basis of) their abilities and

provisioning of vocational training
accordingly.

(2)

€)

diagnostic labelling of children
based on their handicaps for
identification of their limitations.
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o (10) P-qy

IMPQRTANT : Candidates have to do questions :;gag'uf . gemerat &t 7w 31 @90 arat .
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Social Science). '

PART - 11/ WTT- 11
MATHEMATICS AND SCIENCE /TfvTe & faam

P . Peffe Wi & I & F

Directions : Answer the following questions by

selecting the correct/most appropriate options. g T I7g fwed JHY -
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33.

34.

Which of the following is most
appropriate strategy for teaching
students to mathematical
problems ?

(1) Teacher

explaining the steps required for

solve

obtaining the solutions of the

problems. ;
(2) Students should be encouraged to

view a problem from many

perspectives.

(3)  Guess and verify approach should

be strictly discouraged.

(4) The list of formulae required for
solving the given set of problems
should be in the
beginning,.

provided

Identify the incorrect statement from
among the following : '
(1) Mathematical
involves precise use of language.
(2) Conjectures do not have utility in

communication

constructing mathematical
knowledge.

(3) Hypothesis have  a -role in
construction of mathematical
knowledge.

(4) The notion of argumentation is

central to mathematics.

should ~ begin by~

(11)
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35. Which of the following is a desirable
strategy  for assessing  students’
learning in mathematics ?

(1) Students’ justification of their
responses should be an important
basis of assessment,

- () Development of "mathematical
_ vocabulary should not be a basis
of assessment. '

@) Same tasks shoulg be given to all
students for parity.

4 Students? incorrect answers
should be j 1gnored. - -

36. Fora gwen figure to be 5 triangle, the
' condition that j¢ iS a union of three

Segments is _

(1)  both necessary and  sufficient
condition,

(2) neither Necessary nor sufficient
condition.

3) a necessary but not g sufficient
condition.

(4)  a sufficient but not a necessary
condition, - 3

37,

Consider the followmg statements

A =1If n is even, then n2 js even.

B =1If n? is not even, n is not evep,
C=Ifn? is even, then n i even.
D =1If n is not even, then n?j

Which of the followi

ing statements is
true ?

(1)  Bisinverse of A

(2) Dis contraposition of A,
(3) - Cis converse of A.

(4) . Disconverse of A,

————

IS not even,

(12)
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38.

39.

40.

- learning resources

Which of the following teaching-
in mathematics
cannot be used for visually challenged
students ?

(1) Tiles

(2) GeoBoard
(3) GeoGebra
(4) Taylor’s abacus

Which of the following statements is
true ?

(1) Intuition has no role in generating
mathematical knowledge.

(2) Mathematical statements can be
conditional.

(3) Mathematics consists of all the

theorems proved in mathematics
books.

(4) A person good in arithmetical
computation is also good in
Mathematics and vice-versa.

Which of the following stﬁtements is
NOT correct regarding differently
abled children of dyslexia in

~mathematics learning in an inclusive

classroom ?

(1) Dyslexic children may have
difficulty in writing down their
ideas in systematic and organized
manner.

(2) Dyslexia impacts only language .

learning not mathematics learning.
() Dyslexia has an impact in a
person’s co-ordination - of verbal
and spatial aspects of numbers.
(4)  Visual patterns in mathematics
help in overcoming difficulties
experienced by dyslexic children.

——

a3)

’
el

o s s, it

38.

39.

40.

(0]
ofttra Rt 3 fr e § 2

foperent T v Rt srftrm & gmat

Feudad R sEgsm® 7

(1) <rd

2 fEeEE

3) fem

(4) o H mam |

e srida s araa? ?

(1) 7R M % I o Jiagia B
1 Y TE R | .

(2) TR FE sRERa S awa § |
() Tt 6 gerent # € et et
1 Juafe & & Tl e R |
(4) U A S T Awnivnda afemem
o 37=01 § 98 T | oft orsr g

aﬂt%@m%ﬁu@m‘@mt

Tt wEr § yoq w99 Ry
qYa & & BE % T Ftm H
ﬁwﬁﬁm%f@aﬁ%aﬁqmmﬁ%?
(1) 939 HA&war 9T s=91 % 39
foamt =+t Fag o guftq =9 3
foe d s S a2 |
TS IAEHAT hae WIET HEy =)
ﬁmﬂﬁﬂﬁﬁﬁ%?%ﬂmm
|
TS HEWAT H W =hE ¥
e % wiw ot wnfiw -
e T SR W |
TG % femifha T e svew
ST = g S TS H
; ﬁqﬁﬁmaﬁ%l

@)

€))

@
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0

41.

42,

43.

The number
of the largest ¢

M

Y

3)
@

f distinct prime factors
-digit number is

5

6
3
4

If the §

11
fractions. Which

~digit number 179x091y s
ible by 88, then what is the value.
‘,

13 . 1
H and ¢ = i% be three

of the following is

true ?

2) -i-:,’l-<:-11—3’1-<-}-§-
3) %<%<-11—?;-
@ i<l

(14)

© [EFE
S it

41.

42,

43.

6-aiF H o ¥ T T F Ay

R

Py

ST UEE! ) T

(1)
@
3)
@

3
6
3
4

aR 83 W@ 179x091y, 88 3
=g, A -y wwRTAR Y 7

(M
)
€)
4)

3
4

1

2

AR e =1L | _13 15

RELEIL s R S

(1)

@)

13

C=75

14° 17



PII . ,
4. 1F 0.139 + 075 + 2.105 — (1.001) x

1.1=2 -k, then the value of k is

(1) 0.1071
(2) 0.1075
(3) 0.8925
(4) 0982
: 3 5
45. If a=-3 and b = i then which of the
following does not lie between aandb?
2
m -5
7
@ -3
3 o
1
@ -3
46. The product of 1.7 x 10* and

125 x 10 is expressed in the

standard form as k x 10", The value of
(2k + n) is

(1

)
)

(4)

2.25

3.25
2,125

1.125

(15)

i
A=l

|
|

44,

45.

46.

Ife 0.139 + 0.75 + 2.105 — (1.001)
L1=2-k8 DkFAFE

(1y  0.1071
2 0.1075
(3) 0.8925
(4)  0.982

MRa=-Jolb=24 A aan

maaﬁtb%a‘\a@aﬂﬁ% ?

o -2

@ -3
(3 0

@ -3

1.7 x 10* 3K 12.5 x 1076 ¥ AR B

A 9 H k x 10" R =6 R s

B1QKk+n)HIAN Y

(1) 225
@) 325
(3) 2.125
4) 1125

0

X
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& 19 a3 b E Ry
47.  Two numbers are in the ratio 3:5. 1f l ' FEm ¥ 12 T’ﬁ%’lmﬁﬁqﬁ SRR Sy
: 12 is added to both the numbers, then ' FaTe @nﬁﬁmﬁﬂﬁ‘lé
the ratio becomes 5:7. The sum of the I
given two numbers is (1 48
1) 48 2) 56
(2) 56 (3) 32
(3) 32 (4) 40
@) 40 |
48.  The marked price of an article is 48. Tt a%g =1 3feha I[:(EI % 840 3 | G
T 840. A shopkeeper gives a discount SIS il 31"1'{3“ Iiﬁqﬂ t::;; 154
of 15% on the marked price and still e iﬁ{ﬁ'ﬂm g, Sl '13%
9
makes a profit of 19%. What is the 1T BN @ | TG 1 5 e
cost price of the article ? 1) %600 '
1 600
s gy @ 640
@2) %640 @%
: (3) - 540
(3) 540 - -
. s 4) 580
5x-17 _4x-3
49. If.—'_3 + 2 =", + 4x, then the 9. R 5-?;7 e Bl _4x4—3 % i %,ﬁ
value of (8x + 5) is Bx+5)HOm
1M 9 M o
@ 13 - | '
@ 13
(3) 6 |-
! @ 7
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Let

P = 12xy — 10y? - 182,
Q=14+ 12y% + 9xy, and
R =5yt -x2 +.xy

then (P+Q)-R=

(1)  20xy—7x2-3y?

(2) 20xy-3x2-3y?

(3) 22xy-3x2+3y?

(4)  22xy +3x2 _3y2

51, Ifxt+ ﬁ =322, x # 0, then one of the
wesof (- 1)y
vaues_o x-—x 18

(M
@)
€)
(4)

S~ N e o

52. lf15x2—26x+8=(Ax+ B) (Cx + D),

where A and C are Positive integers,
then what is the value of 2A+B-C-
2D)?

(). 2
@ 3
3 o
@

17

R
aE

50.

51,

53,

| .
b | @ 1
| SPACE FOR ROUGH WORK /7% 773 & o s

'q'l':lt_"m%lq

P= szy__][)yz-lang

Q = 14x2 + 12y? + 9xy, 3R
R=5y2-xz+xyg|

@ (P+Q)-R=

(1)
2
(3)
4)

20xy - Tx2 - 3y?
20xy - 3x% - 3y?
22xy — 3x2 + 3y?
22xy + 3x% — 3y?

aﬁx“+%=322,x¢0%,?ﬁ(x—-aﬂ
THAA 2

1y 6
2) 8
3y 2
4 4

aﬁlivz-z&r+s=(Ax+B)(Cx+D)

%,W,Amcmmh‘é,?h
(2A+B-C-2D)mam sy} 7

1 2
2 3
3) o




0

53.

54.

SS.

56.

true ?

3

In AABC and ADEF, if AB = EF
BC=DE and CA =FD, then . . .

(1) AABC = AEFD
(2) AABC = ADFE -
(3)  AABC = ADEF
(4)  AABC = AFED

Which of the following can be the
sides of a right angled triangle ?

(1) 15 em, 32 cm and 57 cm
(2)- 65 cm, 72 cm and 97 cm
) 20em, 21 cmand 31 ¢
@) -35cm, 77 em and 88 cm '

The number of edges of 3 Polyhedron,
which has 7 faces and 10 vertices,

W 1

is

Q@ 17
G3) 13
@ 14"

In AABC, the side
E and side CA i
If Z4BAD =

100°, then whijc

AB is produced to
S Produced to p,
125° apg ZEBC =

(1) Difference between
- £ACB js 350

(2) Difference pe
<ACB g 20°

ZABC ang

tweeh £ZBAC ang

() AABCj an isosceles triange,

(4) AB>pc

h of the following is .

(18)

. 58,

54.

Ss.

S6.

)

P“H

AABC 3 ADEF # ¢ AB = pp

BC = DE 4T CA = FD &, 1
(1) AABC = AEFD
(2) AABC = ADFE
(3) AABC = ADEF
(4) AABC = AFED

= 3 & 9 @ e i 9
Y & wehell § 7

(1) 15em, 32 ecm 3R 57 om

(2) 65cm,72 cm 3R 97 cm

3)  20cm, 21 em 3K 31 o

) 35cm, 77 cm 3R 88 o

et wgwers % 4 B IR 10 1
%lmﬁm%mﬁﬁﬁw%.'

1 15

@ 17

@ 13

@ 14

<ABC 3R £ cp T IR 3502 |
@ BAC R Lpcp T 2002 |

3) AABCH'qﬁaE%-gl.

'AB>BCg|
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P-11

57:.3

58.

59.

60.

In trapezium PQRS, PQ || SR and the
ratio of PQ to SR is 3:2. If the area of

the trapezium is 480 cm? and the
distance between PQ and SR is 12 cm,
then the length of SR is

(1) 36cm

(2) 48cm

(3) 24cm

(4) 32cm

A rectangular sheet of paper 88 cm x 10 cm
is folded without overlapping to make a

cylinder of height 10 cm. What is the
capacity (in litres) of the cylinder ?

22
(Take = 7) _

(1) 7392

Q) 8.624

" (3) 5.4

@4) 6.16

The volume of a cube is 2197 em?3.

What is its lateral surface area
(in cm?)?
(1) 845
2) 1014
(3) 676
(4) 576

What is the mean of the range, mode.
and median of the data given below ?

5,10,3,6,4,8,9,3,15,2,9,4,19, 11,4

(19)

=
22 a{0)

57,

58‘

59‘

60.

o
HEis PQRS ¥, PQ || SR & 3R PQ T
SR T UM 3:2 ® | A} wHEE 6

&AFE 480 cm? R 3 PQ 7T SR H &=
Hrglt 12 cm 2, @ SR & TS &

(1) 36cm

(2) 48cm

(3) 24cm

(4) 32cm

88cmx10cmmirlﬁﬁ3lﬂﬁﬁm
AeH TF 10 cm ST F1 e M@l
a2 | e <t arfar (shetd) 7= 2 7

(n =2 AfR)

(1) 7392

() 8624

(@) 554

@) 6.16

fredt ¥ 1 A 2197 em® B | THA
e qE Qe (em? H) TR 7 '
(1) 845

@) 1014

3) 676

4 576

= atfesl & fow, iR, sgas aun
THFF AR ?
5,10,3,6,4,8,9,3,15,2,9,4,19,11, 4

1y 10 ‘ (1 10
2 12 | 2 12
(3) 8 (3) 8
@ 9 | @ 9

) |
SPACE FOR ROUGH WORK / 7% & & foTq ey
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Directions ; j
- Selecting the correct/inost appropriate options.

61.  Which of the following statement best
describes the nature of science ?

(1)

scientists are totally objective in
their work,

€3

the scientific method is the only
guide for conducting research.

(3)  science js a system of beliefs,
(4)  science js social in natyre,
62, Cognitive validity  jp science

curriculum meapg

(1) dilution of content

(2)  inclusion of appropriate fun
elements of science,

() . inclusion of how concepts of
science evolve over time,

(4)  adaptation of content ag per the

cognitive leve] of learners,

- 63. According to N.C.F. 2005 jn the uppér

Primary stage science curriculum,
“which  of the  following
recommended ?

- Concepts should pe linked to

making  sense of everyday
€Xperience,

b. Concepts should be arriveqd at from
activitiesfexperiments.

¢. Concepts shoylqg be taught thrdugh
disciplinary aPpproach,

“d Along with concepts, laws ang
theories need to be lntroduced

(1) abandd
(2) aandd
(3) abandc
(4) aandb

Answer the Jollowing questions by

(20)

|

- F2m
55

h

%.ﬁwﬁﬁﬁm.$mé#%’g$

61. fifen Fo 5 ¥ W A fe
(1) IR I FE A ooy g

P g € | R,
fafty sgEvm REINE|

%mmﬁm@

(3) mwﬁ@mgl

R et 3 e v

IR -

(D

@)

)

62.

€))

(4)

63.

() abaky
() askg
(3) a,b 3k ¢
@




P-II

64.

65.

66.

From the following, identify the

statement that is true about science.

(1) When a theory has been supfmrted
by a great deal of scientific

evidence, it becomes law.

In time, science will be able to solve
most of society’s problems.

)

Scientists  rely
imagination to carry out their

work.

3) heavily - on

All scientific ideas are discovered
and tested by
experiments.

“

controlled

Ishu was given an individual task of
collecting weather reports for a week.
Identify where Ishu went wrong from
the assessment indicators given below :

M

She concludes that decreased
humidity increases the likelihood

of rainfall.

(2) She understands that range of
maximum ‘and minimum
temperature varies everyday.

(3) She tabulates data'from'a website
everyday. _

(4) She arrives at cc;nclusion that rain

may or may not take place in the
coming week.

Which of the following is a useful
strategy to ' understand conceptual
gaps in learners ?

(1)  using concept maps

~ (2) giving homework regularly
(3)  organizing quiz sessions
(4)  observing practical skills

@1

W
- AE

——— ——— —

64.

65.

66.

]
PR wuE! | vgard o f6 A %
i'l:tﬁwg
(1) = @ g ) Amies Tgdl 5

g §gd 3tfres gl e @ @

g fmmasmmal
@) om T ga #, fagm wue A

i THEA! B BA FA A

& I | |
(3) AR o IW W W HA F

f2TT ST I gd Rmaa S 2 |
@ @ AP few w® Rk

T R @ 3R @ e 2 |
331 ) o qure % forg e < R o
W 1 T AR S foan | R Y
T AT A § UM 6 3 FHEl

(1) v fr=nd Prewd & 5 ama o
Fft & T B AHTEAT 5g AT B |

) 498 gHwdt ® 5 afeam R
A quaH 6t e sfafe fr=
71

3) _%aﬁwwmﬁm
wﬂazzm-cﬁ%’_l

(4) & T IRUTH W YE ® o o

C oARdERO R ER A |

fefafes & ¥ = RRE &

YoheqToTs wH ® gF & e @&

I R R 7 |

(1) TSR HHIRIE0T I ST H |

@) Trafta meed & |

(3) S FEl 1 IS HET |

4) R el w1 e
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67.

68.

69.

70.

To €ncourage more girls to take up -

sciences, you may adopt all of the
following strategies, except b
(1) invite women scientists to  visit
your classroom. . i
(2) €ngage students in examining
myths and stereotypes about
science,
use gender sensitive language and
encourage your students to do so.
be mindful that girls ~ always

dominate discussion in science
classroom,

Q)
C)

Science teachers need'to'ask more

divergent questions because

a. it stimulates and develops critical
thinking,

b. it directs
answers,

C. it helps develop thinking Strategies

students tq correct

d. it helps in assessing  creatiye
behaviour in 4 learner,

(1) onlyb

2) only a

(3) a,b,c

(4) a,cd

Using demonstrations i classroom
predominantly involves learners jn

(1) visual, auditory and kinestheti,
learning '

(2) auditory and kinesthetic learning

(3)  visual and auditory learning

(4)  visual learning only

Give the sequence

of Planning for
your science classy,

om using inquiry

approach in teaching concept of
density.
a. allow students ¢, determine

relationship between objects tha¢
float and sink. :

b. allow students. to play with Water
in a tub with different objects,

¢. ask students to design a small boa¢

that can carry 1 kg of weight.

(1) boc—oa
(2) b—>a—>c
(B)  am»b-ec
4 c—o>boa

| '(zi-z)
!
|

[E7m

67.

68.

69,

70.

)

N

1 7 % R o s ety
%ﬁmﬂgﬁwm
, R % 1 B
ﬁaﬂﬁw&waﬁrﬁaﬁmﬁa

®

o TR 5 L it ot s
e 3 fareffa 5t 1 |

3) ©ffih ¥1 ¥ Hacasfe k)
I #W A I fy 3
Qmwﬁ%%nm%aail

@) @F W@ 5 w6 owy g
wTfehal ghwm gt @ |

ﬁmﬁmﬁaﬁaﬂtaﬁamm

Fifen —
Fﬁa?fgqq@aaﬁﬁm%aaﬂrﬁﬁha

HaAre |

b. agﬁrmﬁfﬁaﬁmaamﬁﬁm
TEH AT R |

(M Fasp

2) Fsma

(3) a,b,c

@ aca

”Wﬁﬂ?{ﬂﬁfﬂm&m' w7 @

et
, ¥q0

(2) maﬁt’ﬁa‘twm@qﬂ |

3) W:’ﬂ?m?ﬁm[

@ e ety

mﬁmwm%ﬁmw%%qah
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P-1I
71.

72.

73.

(3)  The larvae of silk moths are called

‘Y’ is a plant which does not have -

Chlorophyll. Whgt could ‘Y’ be ?
) Pitcher plaélt '

@) Ma;:;le tree

(3) Cuscuta

(4) Algae

‘Which of the following statements is
correct ?

(1)  Assimilation of food takes place

in large intestine.

(2) Large intestine has finger like

projection called villi.

(3) Large intestine is wider and

shorter than small intestine.

(4) Absorption of digested food takes

place in large intestine.

Which of the following statements is

NOT true regarding life cycle of silk

worm and production of silk fibres ?

(1) Silk fibres are proteins secreted by

caterpillars.

(2)  The silk yarn is obtained from the

cocoon of the silk moth. .

as caterpillars. -

(4 The pupa ~develops into

caterpillar,

(23)

L

71.

72.

73.

o)
oy i T } Red weifee
(gftaeras) &l EaT ] | Y’ 99T & Gehal
R7?

(1) ol (Rt arew) -

7)) fmﬁqm

(3) T ()

(4) ==

R AT AT TER ?

(1) EeE A F ORI AdE |

(2) Fegd H el & A I g
AT Bt § o el I v € |

(3) TgeE ggiF H W < qun
BRAIE R |

4 ﬂ%aiﬁﬁmﬁaﬁﬂmem KGRI

 dad) '

m e F aﬂamlaﬂt [T WE &
m%\aﬁa‘uﬁaﬁqmwwq_ﬁ_f% ?

(1) UM wER HFfer g afad
TERERE |

) WW e F BrgT ¥ 7w F A
STH fr ST 2 |

(3) WH Fie F aral H HANR HaEd
g

@) AR ReE B e
TAMCIE |
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74.

9.

76.

77.

Which of the following represents
correct matching set ?

(a) helps in the ;
Mmovement of body

by contraction
and relaxation,

(b) Hard structure
Which forms the
skeleton

‘(¢) Partof skeleton
which can be bent

(d) Joins the chest
bone and back
bone together to
form an enclosure

(1) (@) (i), () (i), (¢) (i), (d) (iv)
@) @ @v), () i), () i), (d) (i)
@) (@ ), () i), (o) (i), (d) (iv)
@ @ (i), ®) (v), () (), (d) (iii)

(i) Cartilage

" (i) Muscles

(iii) Rib-cage

(iv) Bones

Which of the ~following glands in
human beings secretes more than two
hormones ?

(1)  Pancreas
(2)  Thyroid
(3) Adrenal

(4) Pituitary_

Which of the following statements is

true ?
(1
)
3)
4)

All non-metals are gases.

All non-metals are non-ductile.
All metals are solids.

All metal_s are hard,

‘Y’ is a man-made fibre obtained

from a natural source. What could be
£y 2

(1)  Acrylic
(2) Jute

(3)  Rayon
(4) Nylon

(24)
| 74

|
|

76.

|
|
|
|
|
| .
l
l
|
|
|

N

| .

P & 7 T BT 2

FTART?

(a) Rigpet ok AIR@ () Iy
A R B e
YEEAT T 8 |

(b) FERX  HEAT o (ii) ueft

FHeplel ST & |
(c) Sebrer 1 W R (i) Toeh-fiy
FHET T HHAT S |
d) 3§ H FIYT AR (iv) Yy
TS B oW
FH H T HaT
2|
(a) (iii), (b) (ii), () (i), (d) (iv)
() (a) (i), (b) (iii), (c) (ii), (d) (i)
BG) (@ ), (b) i), (c) (i), (d) (iv)
@) (@) (i), (b) (iv), () (i), (d) (iii)

e 3 & et o) 2 ot sy 1
e g afra et 2

(D) sF=mm s
(2) uEsE

B) g

(4) Yy

R S e
(1) =i ST A B |

@ ?Wm(mqﬁ)aﬂ
|

() ™ gl S i g
@ e

Y -l X (e 2 R

(1)

mﬁﬂ:‘éﬁaém%mméw’m
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BIESIC
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of the object ?
(1) It will be virtual and enlarged.
(2)  No image will be formed.

(1) g amrt 3R mafifa gm |
(2)  wrd w7 =

e
(@ g 3 s g

(3) It will be virtual and of same size,

(4) It will be real and enlarged.

Pl @5) - 0
78.  Study the following table : | 78.  +i= &t Tt anfereh b aTeEH iR :
" [Fuel| Calorific | State Ignition ’ 9 | Sefg-Te | e | 9o
value temp. A 3| .| 3" i
A High solid | high | B qom | =
B | Moderate | gas high & e e e
_ C | Moderate | gas | moderate D = ad Lk
| D Low liquid low T ¥ N 04 F w0 A BN @ q=R
Which is best suited as domestic fuel ? Mt IugYh & 7
(1 C 1y €
@ D ) D
3) A
3 A 4) B
4 B
79. Species restricted to a particular area 79. m_ﬁﬁm @1’:’ 4 fafie =9 4 9rft s
are referred to as EE el S A FET ST -
(1) Endemic species '@% (1) foewash =fisfis
(2) Migratory species ' - (2) e whefs
(3)  Endangered species (3) Wgﬂgﬁq
(4)  Extinct species _ () ﬁﬁﬁ?ﬁsﬁﬁr
80. Metal ‘X’ displaces metal ‘Y’ from its 80. H1g ‘X’, HIF ‘Y’ Y IFF - Tyerag
salt solution but is not able to displace faefm = & 4 T 9T Z H I9%
metal ‘Z’ from its salt solution. T foere @ frenie w0 A g 2 |
Identify the most reactive metal. T He8 wer iR o1 B
m z B7 - .
(2)  Cannot be determined. (1) z B
3 X | () Fifa T m s wwar g
@ v | B3 X
: ‘ , ' 4 Y
e 1| SR o
completely diffﬁsed :nanner. What , S Th: e o & ki @ s
¢an you say about the nature of image I ¢ mWﬁw%wﬁﬁwfﬁﬂﬁ%aﬁ -
| LES BT X
I
|
I
|




= " e .

X
0 | (26) mﬂﬁwm@mm%"
82, In order to slide a huge box lying on 82. ﬁmﬁ%mwﬁmﬁﬁﬁ
the ground ip her room, Reshma ﬁﬁaﬁmwmw T
should aPPly a force which js greater freTs T
than which of the following forces ? . (1)
(1) Normal force ' (2) Wt ww
(2)  Muscular force (3) ¥ o
(3)  Static friction | (4) TR ¥
4 Gravitationa] force
83.

_ Identify the corr

e & 4 s@wm & TR
ect_statement from 83, A
among the following ; IR : gt e
(1)  Sound cannot travel - through (1) wh ﬁw:@w '
vacuum, s 59 @ @R ® e WS mm &
(2)  Pitch of sound is determined by its ﬁ%ﬁhﬂ@m% ! -
* amplitude, @) ¥ IR B R, @ e
()  The lower the frequency of the IHEAMR |
: “Vibration, higher i the pitch, . @ mﬁﬁﬁ'ﬂmﬂﬁﬁmmﬁ
(4) The loudness  of sound s %EITGH?H% |
determined by the frequency of 3.Ili|E|§'|Tl
vibration,

. 8. A R BN e A o g
84.  Which of the following sets comprises

HAITE e & < e 35 @ e & 5
liquids which are Poor conductors of 1) M FRafe o, A et
Clectricity ? @ < e T, g wr
(1)  shampoo, vegetable oil, distilled 1 A !

Sedrms s %% 3) A, I, e
(2)  sugar solution, vinegar, lemon juice . E#R (@) 'aalq:_[s_'ﬁq\mmr Fercer
(3)  tap water, shampoo, honey

(4)  salt solutj

85. M9 fem mn iy
on, lemon juice, vinegar ' Rt =y

T T2 7
85.  Which of the following sets comprises 1) Hem YHMT, gy JaTem, 5 7
chemical changes ? . Hh ey
(1) Cooking of food, boiling of water, ) Fﬁ% 5 R, i 1 e,
: dissolving sugar in water. - T
(2) R'ustm_g _of 1ron, bumning of paper, G) TR e ?ﬁ?ﬁ'{ an 3
digestion of food. o ; ‘quarmalm L ’
3) Boiling of water, bre Ing o ahll
o glass, rusting of iron @) 5 ST, o T 9T,
4 Dissolving salt in water, digestion l . IS & -3 HLT
' of food, shredding of paper.

86.  Neena was cyclin
buy some groce

86. M R | = . .
g to the market to i m%ﬁ‘% @W'@ﬂ?ﬁ%

ry items. The market

341 Wﬁéﬁm@%ﬂ |wmﬂ;
m 1
is 4 km away from pep home. She km/h ﬁgﬁ @l Tﬁg :f;a ﬁ;:ﬂ i
travels at a speed of 12 km/p for first mﬁi ﬁﬁ'ﬂ ﬁ'@l‘cﬁ‘% ‘Rv]'qﬂ B
10 minutes. On her way she meets her I 15 fbﬁz 98 i
friend Nikhat and Stops to chat with . - alﬂiﬂamg | 39% qva !
rien 15 minutes. She resumeg per T 8 kmyp H T 3 B
!1er for at a speed of 8 km/h, Wy 4 mamﬁ-a lmﬁ'ﬂmﬁ it 9
journey age speed for the journey 2 _ - R 2 .
. avfglgn/h | 1) 10 ke,
o it @ 4l
g; 6 km/h i . B 61mp,
@) . Bkmh .
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88.

89.

- 90.

()

Which of the following will not be

helpful in the process of separating a

mixture of salt and water ?

(N Distillation

(2) Boiling

(3) Decantation

(4) Filteration

Which of the following properties of

light can be used to explain the

phenomenon of shadow formation ?

A. Light travels in a straight line.

B. Light travels at a high speed.

C. Light is composed of seven colours.

D. Light does not pass through
opaque objects. ;

(1) CandD

(2) DandA

(3) AandB

4 BandC

Identify the correct statement from
among the following :

(1) The proportion of large particles
in loamy soil is relatively higher
than in the sandy soil.

The proportion of fine particles in
clayey soil is relatively higher
than in the loamy soil.

The proportion of fine particles in
sandy soil is relatively higher than
in the clayey soil.

The amount of large and fine
particles is about the same in
clayey soil.

@
3)

C))

Deficiency of vitamin ‘X’ causes
bleeding of gums. This vitamin is
essential for absorptlon of mineral ‘Y’
and X’ is found in food ‘Z’. Identify
X,Y and Z.

X-vitamin B, Y-calcium, Z-green
leafy vegetables

(2) X-vitamin A, Y-phosphorus,
Z-poultry products :

(3) X-vitamin D, Y- calcium, Z-milk
product

(4) X-vitamin C, Y-iron, Z-citrus

fruits

E

OFA0]
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87.

88.

89.

90.

O

< ik e 5 e R T S B
mﬁﬁq%f@aﬁﬁﬂqmﬁ
@
(1)
(2)
(3)
4)
2 Ru T THEW F BH  EEE A=
S BT & ) TReeAT H A 5
RS awa 2 ?

A. mw%mﬁmmﬁl

B. YHNIHIA A A RS |

C. TS &Td o7 () A PreeR s g |

A
ECIGE
fream

D. mmmﬁa@aﬁﬁqﬁmﬁl

(1) C3mWD

(2) D3IRA

(3) AJFRB

(4 B3RC |

fafiRea § & T F9F I gAY :

(1) R 7 ¥ 5 VI 1 T SGH
7] i INHT ISR A |

N ﬁﬁ@ﬁﬁﬁwm
T e 1 ST SR ¢ |

(3) =g g H WA FO0 I

_ forereft T St aRETRG SEACRRIR |

(4) Tt e o w2 it 3k wE ol
1 TTAT ST SO g |

R <X Y e () o HRO TG

¥ iR w8 v 2 | ug Taefm sl
Cy' ¥ STamNvl % AT STEvEs @ 9T
D GUIEEIVAR R CIs R HID G &
3R 2’ I IgEIT ;

(1) X fafm B, v-Hfegam, zZ&l

2) X-ferf| A, Y-SEerH, Z-55e
EISI

(3) X-ffm p, v-*fcwam, z-gu
31

@) X-frafm c, Y-, z-FeEw
* el
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(28) !

A

IMPORTANT : Candidates have to do
- Question Nos. 31 to 90 EJ THER from Part -

I (Mathematics and Science) OR from

Part - I (Social Studies / Social Science).

. qhanferat wt w31 790 77
f,ﬁ!j_,; rforer @ F) A ST - g
(AT S / WAt ) & # &

PART - 111/ €T - 111

X e fam)
- SOCIAL STUDIES / SOCIAL SCIENCE (|1 3reaa /

Directions : Answer the Jollowing questions by
selecting the correct/most appropriate options.

31. Statement-(A) : Chola temples were

the hub of religious, social and
cultural life.

~ Statement (B) : Chola bronze images -

- were of deities but sometimes also
of devotees. '

(1) Both (A) and (B) are true and (B)
‘ 1s the correct explanation of (A).

(2)° Both (A) and (B) are true, but (B)
~is not the correct explanation of

(A). .
(3)  (A)is true, but (B) is false.

(4)  (A)is false, but (B) is true.

32. Statement (A) : The authors of
: ‘tawarikhs’ during the Delhi
Sultans advised on preserving an
ideal social order based on

‘birthright’ and ‘gender
distinctions’.

Statement (B) : Their ideas were
shared by everybody.

" (1) Both (A) and (B) are true and (B)
is the correct explanation of (A).

(2) Both (A) and (B) are true, but (B)
is not the correct explanation of

A).
G @ ‘s true but (B) is false.

(4) (A)is false bUt (B) is true.

2
22200

¥ PO PO, S — v ——— e p———
A, —— ——

flw : freffen SRl & ST A ¥ fy

we)/ e Iugw e g |
3. W (A): = AR uiilE, i
Td G et F Hg o |
FY(B): WA HE W N
_iamaﬁ'ﬁtﬁqt@ﬂﬁtrriﬂiﬁﬁ
ot oft | |
(1) (A) @ (B) 31 Tt & 3R (A) =
wE TR (B) R | -
@ (AW @) T E, feg a)w
T (B) TR |

@) (AT, frg (B) TR R |
@ (AT R, B ) 7@ 2 |

32, T (A): ﬁ?ﬁ%@aﬁﬁiﬁ;w

T % Rl &k o
B Y

(A) T (B) 2 7 ¥ o (a) 7
A ®)2 |

©)) (A)@(B)aﬁaaﬁ,%wﬁ
o= ‘“ﬁ“ﬁmmwﬁ%t

®) (AW@‘*‘%,%(B)WH%I
@ @, feg m)wara

(1)



P-11
33.

34.

35.

Statement (A) : Raziya changed her
pname on her inscriptions and
- pretended she was a man.

Statement (B) : Authors of tawarikhs
used social and gender differences
to argue that men are superior to
women.

(1) ~Both (A) and (B) are true and (B)
is the correct explanation of (A).
(2) Both (A) and (B) are true but (B)
. is not the correct explanation of
(A).
(3) (A)is true, but (B) is false.
(4) (A)is false, but (B) is true.

Statement (A) : Akbar, Jahangir and
Shahjahan followed the idea of
Sulh-i-Kul (universal peace) as
principles of governance.

Statement (B) : Akbar’s interactions
with people connected with faiths,
made him realise that religious
scholars who emphasised rituals
and dogmas were often bigots.

(1) Both (A) and (B) are true and (B)
is the reason for (A). :

(2) Both (A) and (B) are true but (B)
is not the reason for (A).

(3) (A)is true, but (B) is false.

(4) (A)Iis false, but (B) is true.

Statement (A) : Under the Delhi
Sultans and the Mughals, the
hierarchy between social classes
decreased.

Statement (B) : The tribal societies

were not divided into numerous

unequal classes. .

Both (A) and (B) are true and (B)
is the correct explanation of (A).
Both (A) and (B) are true, but (B)
Is not the correct explanation of
(A). '

(A) is true, but (B) is false.

(A) is false, but (B) is true.

(1

2

€)
4

(29)

0]
=

. —————— T T ra— A T T— ) S — ——

33.

34.

35.

.0

o (A): @ 3w e |
ST A g e a9 W/
1 o1 ym O e |

FU7 (B): TARRE % AGH ¥ WIS

o7 foimie = 3MYR SR T8 T o1
fr ey Rl A e A AT AL |
(A) T (B) AT T F 3R (A) F
& wEH (B) 2 |
(A)TE (B) eI 581 &, T (A) 1
T TR (B) T R |
(A) T 2, fFg (B) T R |

@) (A)TeER, g @) FR

FE (A): 3T, I 3 et |
qee-u-e (ada iR, & Rem #
e =1 fagia o= |

Fu9 (B): Tafr ol | 9 §¢ =

¥ grg ar-fad 3 e it v H

=0t s < fag s O af e

WEA A E, F AFHFHEAE |
(A)@(B)aﬁa@%aﬂt(mw
FN (B) § |
(A)@(B)aq’rmﬁ%mmm
HRV (B) T ¢ |

(3) (A)FAE, feg @) |

@ (A)TER, g @) TR

YT (A): Reelt & goam R g
F w1 # Joflag THN TG /W &
T |

Q)]
(2)

3)

(1)

2

%Y (B)

mﬂ‘ﬁﬁuﬁaﬂ'@fmi

(1) (A) T (B) 3nt wet & 3ftC (A)
R Tl (B) R |

@) (AT @) E, Fg@A)®
TE TRy (B) TR |

3) (A)TR, Reg @) TR |

@ (A)TEE, g @) e
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36.

37.

38.

Statement (A) : Bahadur Shah Zafar
wrote letters to all the chiefs and
rulers to organise a confederacy of
Indian states to fight the British.

Statement (B) : Bahadur Shah Zafar’s
decision to bless the rebellion of

1857 changed the entire situation -

dramatically,

(1) - Both (A) and (B) are true and (B)

Was ensured because of (A).

(2) Both (A) and (B) are true but (A)

has no relationship with (B).
(3)
4)

(A) is true but (B) is false.
(A) is false, but (B) is true.

Which of the following is FALSE in
the context of women, caste and
reform during the colonial period ?

(1) Vidyasagar suggested that widows

could remarry.

2

Prarthana Samaj drew only upon
Hindu texts.

Pandita Ramabai founded a
widow’s home at Poona.

©)

(4) The knowledge of ancient texts
helped the reformers promote new

laws.

The state of Telangana was earlier

part of which state of India ?

o
@

3)

@

___-~

Maharashtra
Andhra Pradesh

Madhya Pradesh

Karnataka

(30)

B e e e

36.

@

)

38.

P
; e S A ARaa
FYA (A): FEIge ;e S T
a@a;%aqmnmﬂwq;qq
T 7 TG 4T |

o O WE S F 1857 §

TTEd H AT GHYA & hEe) 3
Rk i i st 3 g
(A) 3 (B) 1 W § W (A) 3
-~ (B) i ghfeea firan |
(A) 3R (B) qHI H& &, fohg (A)
3R (B) % o9 HiE T g 2 |
(A)WER, g (B) Tera B |
(A) T4 8, T (B) Tt @ |

(M
)

3)

SAfrR e 3 A e, sy @
TR & dof #F Peffem § & 939 @
forehey e 2 2

) ﬁmmﬁﬁwfﬁa@'mggﬁ
feam

o T W

ferem~fererst Ry | A

R I 3 o

RIES D o |

Wmﬁﬁmﬁyﬁl

@) U fayame
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39.

40.

41.

42.

[0

Consider the following statements and

select the option that indicates the

correct role of media in a democracy :

A. It should provide information to
citizens through news.

B. It should provide the point of
view of the advertiser, through
its news programmes.

C. It must discuss the views of all

sections.
(1) OnlyAandC
(2). A,BandC
(3) OnlyAandB
(4) OnlyBandC

Which of the following advertisements
is not an example of gender stereotype ?

(1) A woman doing makeup in an
advertisement for a lipstick. .

(2) A woman being dropped by her
husband to office in an
advertisement for a car.

(3) A girl playing football in an
advertisement for a sports shoe.

() A mother making tea in. an

advertisement for a tea brand.

Identify the continent from the given

features Aand B:

A. It is the smallest continent that
lies entirely in the Southern

Hemlsphere
B. It is also called an ‘Island
: continent’.
(1) South America
(2)  Africa
(3) Antarctica -
(4) Australia

As we move away from the sun in the
solar system, '

size of the planets decreases
gradually.

planets very close to the sun are
made up of gases and liquids and
the planets far away from the sun
are made up of rocks.

time taken by planets to cornplete
one orbit around the sun increases.
time taken by planets to complete
one orbit- around the sun
decreases.

(2)

©))

4)

.-i;ﬁ'_i""tli'n.l\._":!"--"i' i

-
22(0)

(31

39‘

40.

41.

42.

. o

- Frefafes wuEt w e € 3k At ®

FOR AT 6 T s w S

A, - 38 GUER % AT ® AIiEht @

© AT ggE T = | |

B. A fagms & Em H wHER
wrlshAl & Arem | H =R |

C. A gt i ==t F =R |

(1) FHFAAAIRC 7

(2) A,B3RC

(3) %ot A 3R B

(4) FHIABIMNC

e 2 ¥ W R SR
R (Set-wiiadiergy) 1 e T6
27

(1) Faufees % fammea § u Afeen =
- Heh—3T9 T |
@) R F fmmm # v wfeen 1 ufd
T AT (SHR) BIST ST |
() e W@ F e § s dshl
Fealel @erd! g% |
(4) =% fase # U A 1 geg 9l
A
' few T wEm A 3R B % SR W HEE
=) TgTH B
A. ¥E fva o 998 O TEEY R S
T g & 2ol emd # @ R |
B. T ‘G wgdiw Wi e R |
(1) cRorsmfe (2) vk
- (3)  ICThicERT (4) Fferan

R Avse § 7 -0 gF QAN E,

(1) 8l = ATHR HHY: HaT I 2 |

@) T % 9ga ™EE F UE W AR
T el AR d s gd
A RA TR e |

(3) wEl g g F =l 3R T aieEan
Tl 7R Tt AT R |

(4) TE g gd % IRl 3R U GReRam
0 Y iy aed e 2 |
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44,

" 45.

4)

variation in a particular region.

D.  there wil be more seasonal

variation in a particular region.
Choose the correct option.

(1) BandC
(2) BandD
(3) AandC
(4 AandD

Consider the statements A, B, C about

Autumn season in India and choose
the correct answer :

A. _This season is also known as the
south-west monsoon season.

B.  Winds blow from the Bay of
Bengal and Arabian sea towards
the land in this season.

C.  This season is marked by the
onset and advance of monsoon,

(1) BandCare true, A is false.
(2) A,B,Call are false. -
(3) AandB are true, C is false,
(4)  Aand Care true, B is fajse.

Which of the following rivers form the
sSunderban Delta’ ?

(1) '
(2) Krishna and Kaveri
(3) Ganga and Brahmaputra

Mahanadi and Godavari

Narmada and Tapi

it ——————— —— i ——
Tt Sttt

4s,

, P
0 (32)
et 9 HE AT .
43.  Imagine if the earth is' not inclined 43, Fe R AR i _.
towards the plane of its orbit, then 3R qﬁgﬁ@?ﬂ P ok
“A. the circle of illumination will A. vt g0 3R SR t@'iﬁ‘@
match with longitudinal lines. o et it | '
B.  the circle of illumination will B. waft ga 3l wishy ten w
match with latitudinal lines., @iﬂﬁlﬁ:’mﬂ 1
C. there wil be no seasonal

C. Tt 8 ferdiw o i enft widy
TR |

D. et & fdw F sy e
qRe g | |

bt faes =T ST #¢ |

(1) B3RC

(2) B3RWD

3) Asic

@4 A3RD

mﬁmm%é&uﬁm_A,B'@t

SRALAELES & 3 1 E0T S —
|

A. 'wmﬁm-qﬁaww%
Wﬁ‘-ﬁmﬁl‘m§|

B W A O, e oyt
S AR Tt it i w2 |

C. %ﬁmwgmwm
T ey |

M Baﬁtcaag,AW%|
2 A,BWC‘mﬁm%'
G) AﬁIBRﬁ‘g,Cm%i
) Aaﬂ{C?@%,BW%|

ﬁqﬁ%ﬁﬁ@tﬁq .

(1) TEF 0 ey
@ PrEeng
@ e gy
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46.

47.

48.

49,

Identify the atmospheric layer from

the given features A and B :

A. - Meteorites burn up in this layer
on entering from the space.

B. Temperature declines  with
increasing height in this layer.

(1) Mesosphere

(2) Thermosphere

(3) Troposphere

(4) Stratosphefe _

Insolation is associated with

(1)  Solar energy

(2) Exosphere and its gases

(3) Air pressure

(4) Seasonal winds

Match the following with appropriate
choices :

a. Coniferous i. Eastern
forests ' margin of the
; continents
b. Mediterranean ii. Hardwood
vegetation trees
¢. Tropical iii. Softwood
evergreen evergreen
forests trees
d. Temperate iv, Westand
evergreen south-west
forests margin of the
continents
(1) a-iii, b-ii, c-iv, d-i
(2) a-i, b-iv, c-ii, d-iii
"~ (3) a-i, b-ii, c-iii, d-iv
(4) a-iii, b-iv, c-ii, d-i
Consider the two statements and

choose the correct option :

Statement (A) : Sahara once used to
be a lush green plain.

Statement (B) : Cave painting in
sahara depicts rivers, crocodiles,
elephants, lions, cattle and goats.

(1)  Both (A) and (B) are true.

(2) Both (A) and (B) are false.
(3) (A)is false, but (B) is true.
(4)  (A) is true, but (B) is false.

(33)
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46.

47.

48.

49,

e ——

o)

for T wEO A 3 B % FMW W

FYHEHE WA whl IE=H

A, AR 8§ YA FA 9 Ienl-Tis
AT H AR WAA T E |

B. 39 Wd H "gdl TS % HIY G9HE
ueare |

(1) wewEd 2) wwEMEE

(3) wnHEw (4) HHATHEA

FTAY 1§79 8

(1) sy

@) wfeded oft 358 2R ol i &
a1y

(3) ST % A

(4) Hrget g % | :

3fa Rreedt & gy Fefalaa <1 fem

Hife

a. YHUR i. TG el

BT

b, YWHETKE il (GHFEIAIE
EEIin)

c. IWHREHE il THHEIR
HeEgR a9+ HEgR g8

d. WS agEEn  iv. HEEMN 5
G gfeedt v

Tfaoft iyt

(1) a-iii, b-ii, c-iv, d-i

) ad, biv, cii, d-ii

(3) a-, beii, c-iii, d-iv

(4) a-iii, b-iv, c-ii, d-i

& W i wl | = ¥ ok Ihm
ey T ETT H

FUH (A): N PeH e A
ot &0~ A o |
FYF (B): HERT I THIA & WW o

afeat, W, g, I, 9y @°r Tl
T & |

(1) (A)IMB)IAFdE |

2) (A)IRBIFE AL |

(3) (A)TH R, W (B) TR R |

(4) (A)WER, WY (B)TAR |
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S1.

s2.

53.

Consider the statements A, B, C on
dolphin and choose the correct
answer :

A.  Dolphins are found in the fresh
water of river Ganga. and
Brahmaputra.

B.  Dolphin sanctuary is located in
the state of Bihar.

C.  The presence of dolphin is an
indicator of the health of the

river.

(1) B and C are correct but A is
ncorrect. .

(2) A and B are correct but C _is
incorrect.

(3) A, B, Call are correct.

(4) A and C are correct but B is

incorrect.

Biogas is essentially a mixture of

(1)  Methane and Hydrogen

(2) Methane and Helium

(3) Methane and Carbon dioxide
(4)  Methane and Nitrogen

Consider the statements A and B
about resources and choose the
correct answer,

A. All resources have economic
value.

.B. Time and technology are two
important factors that can
~ change substance into resource,

(1) Both A & B are true and B is the
correct explanation of A, .

(2) Both A & B are true but Bisnota
correct explanation of A,

(3) Adsfalse, but B is trye,

(4) Alstrue,butBis false.

Choose the  correct group of

conventional sources of energy from
the following :

(1) Hydel power, geothermal énergy,
tidal energy
(2) Nuclear energy, solar energy,
" hydel power
(3)  Oil, natural gas, f'Erewood
(4) . Coal, firewood, biogas

(34

|
|
|
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52,
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5.

56l

4, ‘Match the types of natural resoyrceg

(B) with their classification (A) ;

A . B
(Classification (Resource Type)
~Basis)
a. Level of i. Actual &
development & Potential
use
b. Origin : ii. Biotic &
Abiotic
¢. Distribution iii. Ubiquitous
and localised
d. Stock iv. Renewable
: and Non-
renewable
(1) a-iii, b-iv, c-i, d-ii
(2) a-iv, b-iii, c-ii, d-i
(3) a-, b-ii, c-iii, d-iv
(4) a-ii, b-i, c-iv, d-iii
Statement (A) : Around 12,000 years

ago, a shift to relatively warmer
conditions led to development of
grasslands in many areas in India.

Statement (B) : There was an increase in
the number of deer; antelopes, goat,
sheep and cattle.

(1)  Both (A) and (B) are true and (B)
is the reason for (A).

(2)  Both (A) and (B) are true but (B)
is not the reason for (A).

(3)  (A) is true but (B) is false.

(4)  (A)is false but (B) is true.

Which of the following is true in the
Context of ‘sites’ ?

* A These are places where remains

of past were found.

B.  These are found only on earth’s
surface, \

C. These are found only buried
under the earth.

D They are never found under sea
Or a river, :

(' A, Bang C only

@ p only

(3) A only

(4) A and B iny

M
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55.
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A B
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b. I i, g IR I

c. oo iii. GefeATIH 3N
e

TR0l 3
Iy

d-ii
d-i

c-iii, d-iv

d. YER ’ ‘ iv.
b-iv, c-i,
b-iii,
b-ii,
b-i,

a-iii,

() a-iv, c-ii,
(3)

Q)

a-i,
a-ii, c-iv, d-iii

FYT (A) : T 12,000 FTeT B W
#, ®¢ & § T g % wRo O
Tt AgH &1 & | | .

FY9 (B) : feww, awelian, st 9% aik
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(1) (A) W (B) 3HI w&l € ik (A) =1
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(A) T8, fFg By ™o 2 |
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57. The Harappans made 57. "&fﬁq' Wﬁaﬁ |

A.  Seals out of stone ' . . e

B. Pots with yellow designs B. 9 g:;ﬁ %IQ‘TQW |
C. Spindle whorls made of iron C. 51 GRANEL

D.  Gold vessels p. dERHA & = |

(1) A,BandConly (1) Fad A, BAC

(2) B, CandD only @) ¥a B, CaA D

(4)  AandD only €)

(4) FHAAATAD
58, T WY FHF H QY HHEl b I

58. A megalithic burial had remains of

two skeletons. An appropriate way for & % e
figuring out a female’s skeleton from 2 |‘5=[ﬁ=ﬁﬁﬁ ) BISR
.among the two would be to look at SIS %ﬁ &@:” g',” *

A.  the bone structures . Rl R

A
B. the ornaments on the skeletons B. Wﬁ%mﬁﬁ EY
C.  size of the skeletons C. HFAl S ATHR
D. utensils for cooking food found D. FwE % gy e T R
with skeletons. ERE " =5 |
(1) onlyAandC B 1 Fo
) Ion:y D 22; Heel .
(3) onlyA ' ETl
(4) onlyAandB . (3)  HEAA
' (4) HaA AT B
59. Arrange the following in ascending ] o i & =
order starting from the earliest period ; S | s HH I
A. Beginning of the composition of ﬁq%f@ﬁﬁm '
the Vedas A.
B. Beginning of the building of B TR ﬂ!ﬁ@l‘lﬁ .
megaliths. . TS o Pmfor f W
C. Settlements of Farmers at Inamgaon C. TmWiEH m =1 fa®
D. - Charaka D.
() CDBA | S
D,C, B, A () C,D,B,A
(2) L] ] ] (2) D C ’
3) A/BCD A »C,B, A
(4) B,C,D,A (3) A,B,C,D
l 4) B,C,D,A ;
60. Arrange the following in descending 60. -
order (backward) starting from the l A % A = Eac yaﬂﬁ
recent period : : Il (3ter) | ﬁ’:lﬁifﬁﬁ - 'El'u‘ﬂi ;
A. Increase in the use of iron, A _ T,
cities, punch marked coins. l %* S & wea a,
B. Beginning of the use of iron in | ﬂ@ﬂ
the subcontinent. i B. Iy ?ﬁ%%gﬁmﬂ
C.  Settlement in Arikamedu port 8 mﬂgw 3 =g |
' |
D. Beginning of the composition of D, p ! 4
Sangam literature. ll ) ‘?:Tm afee < ram@’ﬁ
" C,D,A,B »D, A, B
g)) C.D) B, A | (2 C,p,B,A
3) A, C’ B’ D ! (3) A, C‘} B) D
( .C,D 4 A,B,CD

@ &
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61.

62.

63.

Which of the following are true about
End-Text questions ?
A. Encourage learners to explain

concepts in their own words and
debating on issues.

B.  Project work, compare and
contrast are types of end-text
questions. :

C. Expands on the learners’

understanding of concepts and

relate with what has been taught
earlier,

Choose the correct option :

(1) A and C are true.
(2) BandCare true.
(3) A, Band C are true.
(4) A andB are true.

The social and political life textooks :

A. - Include definitions
descriptions of
issues.

B.  Portray institutions and
processes as if they functioned

as envisioned in the Constitution
C. Provide

and
socio-political

. diverse concrete
examples of people and regions.
Choose the correct option :

(). BandC
(2) A,BandC
(3) AandB
4 AandC
After

narrating Dr.,
€xperience on the way to Koregaon, a

- teacher asks, ‘Do you think people at

the station discriminated against Dr.
Ambedkar and his brothers ?’

In this question, which skill is the
teacher emphasising ?

(1) cause and effect

@) hypothesizing situation
@) comparing experiences
4)  infer from situations

_

Ambedkar’s -

37

%g

61,

62,

63.
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Tl # w3 gEl w are-faae
FH F g N w@ 2 |

B. TWiw wd, gorn R fade =
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THRE |
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T IEuone B www R
HETR |

TH faremey o1 v =L

(1) AFRCHEHZ|

(2) Ba3RcHHE

(3) A,BIRCHAFE|

(4) ARBEAE.
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64.

65.

To introduce the theme ‘Markets’,

which would be the best pedagogical
method ?

(1)  showing pictures - of various
markets.

(2)  locating major markets around the
school on a map.

(3) textbook reading and discussion.

(4) inviting a shopkeeper for an

interview to the class. -

“This is the glory of God,
Defilement exists within,

~ The body is polluted from within,

66.

Be sure of it says the Mahari Chokha’

As a teacher, how would you interpret

this poem and discuss with your
learners ?

(1) Human purity is determined by
' our thoughts and beljefs.
(2)  Human purity can be achieved by
+ seeking God’s blessing.
(3)  Human purity is fixed at birth,
@

Human purity is determined by
the work we do.

Social Science curriculum at’ the

upper primary stage focuses on :°

A. Understanding earth ag
habitat of life forms

B. Studying own region; state ang
country

the

C. Studying India’s past and current
development

Choose the correct option :
)
2
3)
4

A,BandC
only Aand C
only A

only A and B

——

- 65.

66.

A § R F ey o
S 6 307 T |

R 1 957 3 oy
forg amfa e |

) 3 3 R e
gafeTe g @ Wit

©)
4)

5T @ Frn i &

T BN W T TG
TR =1 1§ 98 HE I

& Rigs & IR ®, 30 3w

favetew ok o srRtrreehad @
FH 7

(1) Te@ e fEm ok

A
forvamr @ Pruffm 2 2

@ " ggm B R g

T S Fha § |
() A e @ Rutfa a2 |

@) T Yem e o) ww FW &
S5 fuifa 2 2 |

IR forw )y et 3= e

W‘R%f%ﬂm%:
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67l' b

Using a globe and a source of light,
teacher can demonstrate the following

~ concepts :

08.

69,

A. Rotation

'B. Day-Night

C. Seasonal Variations:

. D.  Distribution of Rainfal]

Choose the correct option;

(1) A,CandD
(2) B,CandD
(3) A,BandC
(4 A,BandD
As a teacher, you can make

interlinkages while discussing ‘Iron
smelters and factory owners’, a theme
in History with which one of the
following chapters
textbook ?

A.  Mineral Resources
B.  Industries

of geography

C. Power Resources

D. Inside our earth
Chdose the correct option :
() A,CandD

2) B,CandD

(3) A,BandC

4 A,BandD

In a city school, the best method to

introduce ‘Types of Forests’ in a

geography class would be to .

(1) screen a documentary on different
types of forests.

2)  divide learners into small groups
to work on types of forests.

(3) organize a field visit to a forest
near to the school.

) make a PowerPoint presentation

on forests in the region.

—E

(39)
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67.

68.

69.

o)
T IR T G IR W Th
e fr= § @ fe araumonatt # <ot
qHare ?
A, G
B. feA-ta
C. gt afEd
D. aui = faa
gt fspes HamT =
(1) A,C3WD
(2) B,C3WD
(3) A,B3RC
(4 A,B3IRD
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ik

0 e T aﬂfﬁ TS By |
1 on 70¢ m
70. To develop practical skills among Wf‘?’ﬁ # frerlta %ﬂ ﬂTB;Tq;
learners while discussing i b aﬂ%’a'
‘earthquakes’ teacher should focus A
upon ) gTﬁ'Tm ::La;dlq wﬁi‘fm |
(1)  Present cases of earthquakes 2) Wﬁg—ﬁ INIEIE ﬁﬁ&f‘qml
(2)  An activity on earth’s movement (3) q,ﬁq ¥ TR
% (3) Types of earthquakes @) %q % a"m:{ =Ll qﬁ T
' (4) Precautions during earthquake I araefrEt .
. | gty &7 3 T S 1990 F o
71.  The local people of the Tawa reservoir 7
area organised to demand which right | 3{113 ST | I8 FH & FEm
related to their livelihood in the 1990s ? R T 7
(1) Horticulture rights ) §fﬁiﬁl FRER
(2) Commercial Forestry rights o
+(3) Cultivation rights (2) S IcEIREACERINE] SR
(4) Fishing rights il (3) T FA H AHET
' = TSt TeheA i TR
72. Choose the description that best E]% (4)
“represents diversity from among the . ﬁﬂﬁfﬁﬁﬁﬁﬂﬁ?ﬁﬂ@ﬁmﬂ |
following.
(1) It accepts differences among S Tdih & 7 i
people. (1) Tg <l 3 ferfrean =i @i
2) It allccepts inequality among 2) = S ¥ d sEEd @
people
(3) It leads to discrimination among Eﬂiﬁﬂ?ﬂ‘% |
people. (3) WEEAM H Wﬁm% I
(4) It leads to similarity of people. @) T FE EIGTHT% |
73. In the context of democracy in India, 73. T e S e & ﬁﬂ‘ﬁ-‘l’mﬁ
~ which of the following statements is
i“;lse ? - I H1HY T R 7 3
(1) In India people participate (1) T & T ) i e &
indirectly in the working of the } o E |
government. - ‘3{§3“
(2) The first general election after I (2) wrad 98T AW I 195
independence was held in 1950. I q | -
(3) A small section of Im;ian | G) R - Fa ’
population could vote even before o T
independence of India. I RUSIER S e R RS
(4) India  adopted representative I TohaT 7 | gﬁﬁﬁ
democracy after independence. | @) wdFm ¥ ae wwd 1
74, A Gram Panchayat is elected for a I A I YT |
. 9
term Zf how many years in lndla I 74, ;rm ﬁ, e PES
4 | TR ?
@ | ) wm @
©) ) v @

4 6
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1.

m.

8,

N,

What is the designation of the person

“in-charge of a police station ?

(1)  Officer on Special Duty
(2) Home Inspector

(3) Station House Officer
(4) Police Superintendent

The Amendment brought about in
2005 to the Hindu Succession Act
provided for which of the following ?

(1) Right of Hindu community to

have °special laws govemning
~  marriage.
(2) Right of men to protect
themselves from paying

compensation after divorce.*

(3) Right of minority communities to
open religious schools.

(4) Right of women to have an equal
share in family property.

Who is considered as the final
interpreter of the Indian Constitution ?

(1) Judiciary

(2) Attorney General
(3)  President of India
(4)  Parliament

The (Prevention of Atrocities) Act,
1989 was enacted to provide ]ustlc: to
Which of the following communities ?

(1) Tribals and Dalits

2) - Only Minorities

() Dalits and Minorities
4) Minorities and Tribals

A political system having more than
¢ level of government can be
described ag

0 Republican
2) Federal
3) Secular
@ Liberal

(41)

%
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75.  GfeTE UM % ST i e R ?
(1) 3THE I IS I
(2) TWIEIR
(3) WIH EIEH ITHFW
4) gfera aehtarss
76. ﬁimmwmﬁmﬁmmzoos
¥ g 3 Fafafea § € =0 gia
a7
(1) g wgem = faame wed fafie
FFH 1 ATFHR |
(2) Tl T qEH & TG GITEST
6t Rrigr & gean =1 ifter |
() IUEEIH  HEEEl W U
Frarera @iem =1 AR |
4) ufgensnt w1 ufefes qufy §
TR feier =51 s1fer |-
77. URAE wiRgm i =wenm o+ 3iftm
sredfaurias Rel s ST R 7
(1) =agTieTehT
(2) 3 S
(3) W > gy
4 wag
78. (AR TEwer) stfufem, 1989w
_ﬁm‘%ﬁwﬁﬁﬂq%aﬁaﬁaﬁm
T % forg wria e mar e ¢
(1) nfeamd wd gfera
Q) Hud AT
(3) T U arevEErE
(4) ITCIEETH U anfearh
79. W W s el o ¥ sar

%:at'q%‘tmi’rsﬁ HET AT FhaT
|

(1) TIEAH®R
(2) HuaR
(3) Wity
C))
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80.

81.

82.

83.

Which of the followin
promotes social justice ?

A. Reservation

g policies

of seats in
government . employment for
listed dalit candidate. '
B.  Enacting Minimum Wages Act
(1) Both AandB
.(2) © Neither A nor B
(3) OnlyA
(4) OnlyB -

In a discussion on architecture of New

Delhi, a teacher should focus on
discussing :

(1) superiority of its style over Qld
Delhi _

(2)  how it asserted British importance
and created sense of awe

(3)

how tourists look at the buildings,

how to view the buildings from a
distance.

4)

The teaching of History must be done
with the focussed objective of

(1) identifying issues which - are
relevant in the present.

(2)  developing performing abilities of
the learners.

(3) transmitting what happened in the
pasts,

4)

the pasts,

What can be the

introducing current affa
~ science classroom ?

purpose of

A.  Promote interest in the issues of
the country,

B. Develop skills of analysis and
critical evaluation, '

C. Bulld interest in the subject by

providing sensational news,
Help the learner rejate school
learning to life outside of school,
Choose the correct option :

.D‘

(1) A, C D are true.
& ki
3) A, B, C are true.
4) A B,Darcirue

memorising how it happened in

irs in social

42)

80.

81.

82.

83.
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tmphasise :

The objectlve of discussing ‘equality’;,
in a social science classroom is to-

A. address issues of dignity with the
learners.

B. sensitize learners
respecting everyone.

towards

C. build upon values enshrined in the

Constitution.

D. explain that all differences leads
to inequality.

Choose the correct option :
() A,C, D are true.
2) B, C,Dare true.
(3) A, B, C are true.
(4) A, B, D are true.

In order to address the diversity that
exists In the class and in society, a
social science teacher needs to

A. include examples of multiple
cultures in the class discussions.

B. take up only examples that are
relevant to the majority.

C. cncourage students to share
their personal expericnces in the
class.

Choose the correct option :
(1)  Only B is true.

(2) A and B are true.

(3)  Aand C are true.

(4) B and C are true.

Assessment in social scienceé should

() measuring retention of
information by learners.

(2)  evaluation of learners ability to
extrapolate their learning to
various life situations-

()  identification of learners who are
fal]lng

@) testing learners writ
the class.

lng abilities in

(43)
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85.

86.
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T R F EgT oL

(1) ACDFERZI

@) B,C,DHEEI

(3) AB,CHRI

(4) A,BDHEEE I
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Q¥ Rre gt R & e B

=1fee f6

A. T gt & 93 SqETn W
w1 6 54t § e |

B. ¥ua I IqwwH W A WL
ATy Tged & ford Tl A |

C. M =fema argwal i HEr A
e F0 ¥ forg fRafiat = M@
Wt |

T e FIEEA *

(1) $TABEAE |

2) AIRBIAREI

(3) As3mcudi|

(4) B3mCHERE
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87. An example of secondary source is g7. fodid I '
(1)  Constitution of India {1y - F R |
(2) Painting by Abanindranath Tagore 2) T A e |
(3) CA. Bayly’s An lllustrated 3 q.T ol g:m : H % '
. History of Modern India feed! AT® et § !:
(4) James Mill's A History of British @ e e g fo TR o |
India  ffemsfem :
88. To discuss on women’s education in 88. Wi 7 &l e " = =
colonial India, students could refer to ¥ fyu fremdf F= et 3
the following autobiography : ! gefia qHdE 7 .|
(1) Rokeya Sakhawat Hossain’s ik g@TEd W
- Sultana’s Dream (1) an i TEH |
(2) Sattanar’s Manimekalai ,@% (2) FEMEd faeRers I.
ElwE ; . '

(3) Tarabai Shinde’s Stripurushtulna (3) a‘r{m‘é e 4 @-‘W CSRL
(4) Rashsundari Devi's Amar Jiban (4) TEged <&l F HHT EiCiE |

89. The feaching of Geography should 80, it figor ot Tl @ g8 WAH
develop perspectives related to issues wftte 1 e T =R :
concerning i s
A. Resources and Conservation 3 bl
B. Development and Displacement B. forme o foreer

'C.  Challenges to Unity in Diversity C v A w9 Trfed
D. Human Development . D. wa faFmE
Choose the correct option : HEl ooy A R
(1) A,BandC - () ABIC
(2) A,BandD 2) A,B3WD
(3) onlyAandB (3) %9 AIMB
@) HIAAIRD

4) only A and D

90. An active social science classroom

t
w;uldlencourag; le]arnmers 0 g : : PRV
(1 isten to the lectures and rely on
what is being shared. (1) T &l g eNEIEL fart i
W e |

(o)  participate in challenging projects.
(3) keep discussions minimal

(4) be focussed on reading the
textbook

(2) et e & wnfier & |
(3) =atei B wpran T |
() - e T HFA

T T —— ————
———— ————— e e
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' -PART - IV
LANGUAGE -1
- ENGLISH
IMPORTANT : Candidates should attempt questions from Part —1V (Q. No. 91-120),
if they have opted for ENGLISH as LANGUAGE — I only.
jrections l;ead th:. Passage given below 91. Which part of speech is the underlined
4 answer the ques lons (Q. Nos. 91 - 99) . i ion ?
mnat follow by selecting the correct/most _ [ word in the following expression
gppropriate options : & ‘It cannot stay at one place.’
The very nature of thé mind s  (1) Particle
estlessness. It cannot stay at one place or hold (2) Adverb
e thought for long. For every thought that (3)  Determiner

gpears, there are comments, judgements and
ssociations. Thinking is a continuous activity
with the mind jumping from one thought to
aother from morning till night. Like clouds in 92. ‘asifin ceaseless activity’
the sky or waves in the ocean, thoughts appear :
ind disappear as if in ceaseless activity.

(4) Pronoun

" The word ‘ceaseless’ means

However, all thoughts that pass through (1) tempomry
ar mind do not affect us. But we get affected (2) flawless
when our ego is hit. Then the mind whirls and ' (3) permanent
teates a tornado of restlessness within, A
viriety of probable scenarios crop up ‘how
dre he insult me; what does she think of
berself ? Where I am not respected, I will not 93. ‘creates a tornado of restlessness’

&, if he speaks thus, I will reply so’. And so it |
go¢s on and on. : The word ‘tornado' here means

%‘Iﬂ.
252 (0]

(4)  continuous

We have an inbuilt filter in our mind _ (1) storm
which chooses the types of thoughts or subjects © @) i
bat we like to brood upon. We are not born | :
With this filter but we acquire it over the years
¥ith the kind of books we read, the company
¥ekeep and the subjects we are interested in.

(3) waterfall

(4) confusion

. That is why some people are obsessed
Vith football, cricket or fashion while others
COPId not care less for such things. This filter is
I;::I]t].ﬂa-‘f' by day by our actions, suggestions,'
ulli:nmgs and influence of others. We can
' Ately choose our own filter. So let us lear.n |
daﬂy"'ld our filter wisely and strengthen it

94. Thoughts are compéred to
n associ'ations
(2) clouds
(3) comments

(4)  judgements

e e e ——— e, — . A e ot W . W
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(1)
)
3)
(4)

96.
(1)
@)
@)
@)

97,
A,

Process of thinking continues

morning to night
year to year
day to day

week to week

Thoughts affect us when our

leaming is affected.
pride is hurt,
job is affected.

sleep is disturbed,

Read the following statements

Our reading decides the filter in
our minds,

The filter in our mind controls

- our likes but not dislikes.

)
2
€)
4)

98.

A is correct and B is incorrect,
A is incorrect and B js correct,
Both A and B are correct,

Both A and B are incorrect.

Which of the following statements is

incorrect ?

(1)
@
3)

4)

“The filter in our minds influences

our actions,

Our thoughts do not remain stuck
at one point,

Each one of us has an inbom filter
in our mind.,

We like to be respected when we
go somewhere.

-

e

(46)
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99. Which part of speech is the ““derlineﬂ]

word in the following expressigp, %u:

‘But we get affected’

(1) Adverb
(2) Particle
(3) Verb

(4) Adjective

Directions : Read the poem given belgy ang
answer the questions (Q. Nos, 19q _
105) that follow by selecting ¢y,
correct/most appropriate options :

That time of year thou mayst in me behold,
When yellow leaves, or none, or few do hang
Upon those boughs which shake against the cold
Bare ruined choirs, where late the sweet birds sang,

In me thou seest the twilight of such day,

As after sunset fadeth in the west, |
Which by and by black night doth take away,
Death’s second self that seals up all in rest.

In me thoy seest the
That on the ashes of
As the death-bed, w
Consumed with th

glowing of such fire,

his youth doth lie,
hereon it must expire,

at which it was nourished by.

This thoy perceiy’s
more strong,

To love that w
long,

t, Which makes thy love

ell, which thou must leave ere

‘Death’s second self’ stand

for ?

(D ashes of one’s youth
(2) Setting sup

(3) Sleep that gives rest
4

a dying fire

>
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163,

Iie’s

which figure of speech has beep used

il sTh.ﬂt on the ashes of his Youth ‘doth "~
: _

in the underlined phrase ?

Personification
Alliteration
Simile

Metaphor

The theme of the poem is

The poet’s life, today, is like

love
songs of the birds
the idea of death

the change of seasons

season.

(1) winter
) summer
(3)  spring
4)  autumn

In this season the branches have

~—_ leaves, -

M few

(i) ng

M) either (i) or (ii)
@) neither (i) nor (ii)
(3) only (j)

4 only (ii)

@7
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105."” What did 'the branches of the trees

Directions :

enjoy earlier ?

(1)

L U2)

()
4

0

bright light of the sun
darkness after the sunset
a ruined group of singers

sweet songs of birds

Answer the following questions
by selecting the most

appropriate options.

106. A teacher asks her learners to join -

107.

sentences to make a shart paragraﬁh,

inserting supplied . connectors and

coherence markers like (but, and,

however, because, although, etc.)

What is this approach to writing

known as ?

)
@)
€)
(4)

Free-writing approach
Communicative approach
Control composition

Controlled-to-free Wwriting approéch

An assessment done at the end of six

months of one term is

M,

@
€)

@

Semester assessment
Remedial assessment

Summatjve assessment

Formative assessment




0

108.

109.

110.

A teacher asks  her learners of

class VIII to read a novel by an Indian
author and asks them to write an
essay giving their views on the novel.

What is this known as a reading
activity ?

(1)
)
(3)
@

Reading for information

Scanning

Intensive reading

Extensive reading

A teacher selected a text from a
newspaper and dropped every fifth
word and asked her learners to supply
“the missing words. What is a test
knownas?

(1)

Complete the

comprehensible
paragraph

)
3)
(4)

Writing test
A cloze test

Fill in the blanks

Multilingualism as a strategy is

(1) teaching of all subjects in English
medium and teaching Indian
languages as a language.

(2) teaching of a foreign language

along with Indian languages

through the medium of the state

language.

€)

using the languages of learers for

teaching-leaming of languages

and content subjects.

(4) teaching-learning of at least three

" ]anguages and content in mother
tongueé. -

(48)

111,

112.

113.

Denotative meaning of o Wor by

-_—_-_—_-_.
(1) figurative meaning !_
(2) grammatical meaning | |
(3) factual meaning or basic Mean; I|
(4) much more than what ,
0

actually means

‘We acquire

understanding input that js , lt

beyond our current level of (acquireu) ‘
competence.” What is this Pedagpiey
concept known as ?

(1) Input hypothesis

(2) Thinking hypothesis
(3) Output hypothesis

(4) Interaction hypothesis

What is the status given to English by
the Indian Constitution ?

(1) National Language

) Link Language

(3) Official Language

(4)  Associate Official Language

. What are the three components o

PPP model of teaching ?
(1)

Pre-teaching — Practice teaching -
Produce result

@)

Pre — conception — Practice ®)
teacher — Post conception

3

(4)  Product — Practice - Present

Present — Practice — Produc®

SE
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116.

17,

@

teacher of class VIII discussed
: determiners’ in her classroom
hrough short text in which
dgtermi“"s occur many times and
earners were made to notice them in
use- This was followed by learners
using the same in their own language
for parﬁcular purposes. Teacher then
prought to the notice of the learners,
(he uses of determiners in contexts.
What strategy did the teacher employ
i her classroom ?

(1) Taskbased language teaching
@) Communical language teaching
(3) Structured teaching

Consciousness raising

)

A teacher found some of the aspects of -

language learning e.g. reading with
understanding a text on scientific
concepts. She decided to pick students
who find it difficult on the particular
aspects. She took separate session for
them to support them read and
understand such text. What is she
trying to do here ?

(1)  Thinking skills

(2) Feedback teaching
(3) Remedial teaching
(4) Higher Order skills

A teacher wanted her students to
learn vocabulary effectively. Which of
the following ways should she adopt to
teach vocabulary in her classroom ?

(1) Ask them to find the meanings of
the words in the dictionary.

Ask them to group the words into
meaningful categories and use
them in real life purposes. '
Write all the new words on the
blackboard and  write their
meanings in the language of
teaching.

(2)

(3)

Ask her learners to underline the
difficult words in a lesson and
find their meanings in their
language,_

(49)

i

-2
2200
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118.

119.

120.

(0

gets the hints based on

A reader
to

sound-symbol
decode and comprehen

What is this known as ?

correspondences
d the text.

Metalinguistic cues

M

2) Syntactic €ues

3) Graphic cues

(4) Graphophonic cues

India’s langu'age-in-education policy is

kngwn as

(1 Language in education

(2) Official language policy

3) N.ational language formula
| (4) Three language formula

What is the following activity known

as in vocabulary learning ?

Find words which can befriend the

word ‘rain’. e.g. heavy rain.

(1) Word groups

| (2) Word web
(3) Co.llocation
(4) Phrase
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P

PART -V
LANGUAGE - 11
ENGLISH

{ -V (Q. No. 121-15¢
IMPORTANT : Candidates should attempt questions from II)_?:GE _(3 o ),
if they have opted for ENGLISH as LANG

Directions : Read the passage given below
and answer the questions (Q. Nos. 121 — 128)
that follow by selecting the correct/most
appropriate options :

The richness of her childhood
experience came from living a life, which
embraced tradition on one hand and exposure
to the world of change, of questioning and
questing on the other. Her father’s progressive
ideas, his involvement in bringing about
change in the restricted Brahminical society,
his encouragement of Kamaladevi to follow
her own inclinations and yet give her an
opportunity to study in a school and participate
in all the social functions with which he was
involved, as a Senior Revenue Official, gave
her confidence. The example of her
grandmother, who lived the life of a scholar
and fearless woman, who travelled alone

without any fear of any social disapproval or

adverse consequences, was a fitting example to

Kamaladevi, who later travelled all over the
world, often risking her life.

Girjabai, her mother was a dominant
influence throughout her childhood and youth
who set an example by overcoming all
difficulties without a murmur. She discarded
meaningless social customs and observances.
She championed the cause of women. Her

conviction was that a woman must educate

herself, so that she could be independent and
her insistence that Kamaladevi should not only
study, but also participate in cultural activities
and sports, enriched her daughter’s life.

L T A—— Sl TS Wis—" o ——

Kamaladevi went with her mother to
Seva Sadan and saw her exhorting women ey,
older than her to become literate. She hearq her
read to them from the newspapers, magazineg
and extracts from books by social reformerg
and nationalists, followed by discussions apg
saw their attitudes changing. Girjabai’s love fo,
music was shared by Kamaladevi and she wag
encouraged to learn North Indian and Camajc
music. This love of music was a great source of
peace for Kamaladevi in her later years.

121. ‘which embraced tradition’

The word ‘embraced’ here means
1)
2
3)
4

pleased
followed
disusgd

performed

122. ‘an example

by overcoming all
difficulties’ '

The word ‘overcoming’ means
1
@)
3)-
)

conquering
over bearing
reaching

not coming
123, ‘living a
tradition,

Which part of speech is the underlined
word ?

(1)
@
€)
(4)

life, which embraced

Pronoun
Determiner
Adjective
Adverb




r'“ wtliCh two _contradictory kinds of
111. e“per;ence did Kamaladevi have in
o childhood ?

Childlike and Adult
2) Social and Individual
o) Questioning and Questing
_ " Tradition and Change

‘Her father did not believe in

(1) allowing children to join the
adults in their activities

@ female education
0) removing brahminical restrictions
@) giving freedom to children

16 which of the following statements is
NOT correct of her grandmother ?

(1) She was not afraid of social
criticism.
(2) She travelled unescorted.

3) She believed that women should
lead a secure life.

4) She loved to read books.

. Which of the following statements is
correct about her mother 7

(1)  She preferred studies to sports.
(2) She did not believe in adult
literacy.
(3) She struggled
~ smilingly.
(4) She observed faithfully all the
social customs. '

8. Study the following statements :

A. Kamaladevi’s mother read to
her from

magazines.

B. Music was a source of great
comfort to her. ‘

(1)  Both A and B are right.

) Both A and B are wrong.
(3) . Aisright and B is wrong.
(4) A is wrong and B is right.

through  life’

newspapers - and .

(55)

" that follow by selecting

. the far-sightedness of

o

he passage given below
tions (Q. Nos. 129-135)
the correct / most .

Directions : Read t
and answer the ques

appropriate options. :
The goal of independence was achieved in
i hich,
i a prolonged struggle, during which,
i o the leaders of the freedom

giving a final shape to our

movement resulted in .
be achieved after

ial and economic goals to

S&Oec;:}:Jm. This vision imagined to buil'd a self-
reliant nation through maximum utilization of the
resources in men and materials, and the
establishment of 2 noble and liberal society. It }.1as
been an article of faith amongst the policy
planners in India that while economic snen.grh
determined the scope and quality of political :
freedom for millions, the quality of freedom .

depends on increased work and production in

factories. It leads to just and equal distribution of

wealth among the people s0 that the poor can also
enjoy the benefit of freedom. This, it is
recognized, is possible only through increased
employment opportunities in the society. '

In human terms, democracy means
availability of equal opportunities to all the
people irrespective of caste, creed, sex and
religion to develop their personalities. It means
access to education in Arts, Science and
Humanities and also awareness of our age old
values and traditions. It needs to be emphasized

. that the Indian policy has been based on a

concern for the individual not only as a worker
working for the economic development of the
society but also as an end in itself;

In the Indian‘context, the concept of
national development goes far beyond

economic growth; it is concerned with the

creation of a nation united in one purpose, of I
»

people speaking different languages, professing

different religions and rooted in a variety of
cultures. ‘ ‘




129.

130.

131.

132.

‘while economic strength determined
the scope’

The word ‘determined’ means

(1)  preferred
(2)  rejected
(3) established
4) dec;‘ied

‘our social and economic goal’

Part of speech of the underlined word
is

(1) Interjection

(2)  Conjunction

(3) Pronoun
Determiner

Q)

‘In the Indian context, the concept of’
The word ‘concept’ means

(1) Care

(2) Inception
3) Curio_sity
@ |

Idea

The Independence' was achieved in
India

(1) | through violent means
(2) by making use of every resource
available
(3) through a long struggle
(4) by self-reliant leadership

'

(56)
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133.

134,

135.

(1) to pay attention to  climatic
changes. |
(2)  just and equitable distribution of
 wealth, '
-(3)  development of countryside.
(4) to give importance to cultural

N

Py

Our leaders’ vision of indepen der;t

India was based on

(1) - economic self-reljance

(2) diversification of employment
(3) boycott of foreign goods

(.4) development of defence forces

In addiﬁon to economic growty our

society, as a consequence, also neegs

variety.,

Study the following statemients :

A.  Along with economic growth, we ;
also want to develop a united |
nation with one aim.

B. A f;oﬁie ﬁﬁa liberal society
depends entirely on economic

wealth,
(1) Both A and B are right.
(2)  Both A and B are wrong.
(3) A is right and B is wrong.
©)

A is wrong and B is right.

% <
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|

f’}zctions ::An.swer the following questions
f by. selecting the most appropriate
options'

What _does ‘free-writing approach’ fo
J writing promote ? '
(1) Understanding of the content and
fluency : :
@) Syntax and language use
6) Understanding
accuracy

) Gfammatical accuracy

il fpedagogigal Grammar’»- méans that

(1) Begin from form and move on to
use.
(2) Teaching through immersion
(3) All grammar teaching should be
. rule focussed. ,
4 Teachir_1g grammar in context

138, Which one of the following is not

advocated as an element ' for

assessment in a poem ?

(1) Grammar
(2) Vocabulary
(3) Poetic devices

(4) Theme of the poem

139. A teacher asked her learners to watch
a movie two days ago and now she
asks them to have a discussion on
what would they do, if they were the
.hero/heroine of the movie ? What Is
this assessment task known as ?

(1)  Speaking task

(2)  Thinking task

(3) Extrapolative task

(4)  Critical pedagogy

. . g’ B N e g -
) _ . ‘ ~ i ‘a -
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140.

141.

142.

143,

(0]
What does fluency in reading mean ?
Ability to interpret the text.

1
22; Ability to read without any
grammatical errors.
(3) Ability to read a text at ease with
expression.
4) Ability to read a text without any

mistake at all.

Which of the following statements are

true of languages in India ?
English is the official language

a.
of India.

b. i{indi is the national language of
India.

c.  Hindi is the official language of
India.

d. English is the associate official
' language of India.

(1)

‘a’ and ‘d’ are true.
2 b’ and “c’ are true.
(3) ‘a’and ‘D’ are true.
(4) ‘c’and“d’ are true.

‘Declarative Knowledge’ in learning
grammar refers to

(1) knowing the ideas and concepts in
learning,
(2)  knowing to use a dictionary
- (3)  knowing the rules of a grammatical
item. -
(4)  knowing how to do a grammatical

item.

‘Habit formation through repetition’
is a component of which method ?

(1) Task based language teaching

(2) Constructivism
(3)  Communicative approach
4

Audio lingualism
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145

146.

A teacher of class VII asks her
learners to bring at least two or three
objects from home and she asks them

to- exchange the

objects
describe the objects in their hands in
at least ten sentences. What are the
objects language

known as in

teaching-learning materials ?
ey
@
(3)
)

Teachers materials

Inputs for language learning

Realia

Home objects

- Which one of following components is

a process in the Top Down approach
to teaching-learning of listening ?

)
(2
(3)

Recognising prominent details
Recognising the topic
Discriminating between intonation
compounds

4

Discriminating between phonemes

A teacher arranges her learners into
pairs and give them a text of two
paragraﬁhs. One learner in the pair
reads out the text to the other and the
partner takes the dictation. Then the

process is reversed. What is thijs
known as ? -

(1)
(2)
3)
C)

Running dictation
Composition dictation
Jig-saw dictation

Partial dictation

among’

‘themselves, She now asks them to

(58)
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147.

148.

149.

150,

X

Py

‘Mechanics’ of language in speakin.g

skills includes

(1) social and cultura] Tules of Usip

language
(2) script, words and Sentences
(3)  pronunciation, grammar and
. vocabulary
(4) clarity of message

Jatin Ragav is reading fast, 100king

for = specific information in
machinery ' manual. What i this

reading sub skill known as ?

(1) Bottom up reading
(2)  Critical reading
(3) Skimming

‘ (4) Scanning

Here are some sets of words in some
pattern. Find what are these known as
in teachihg-learning of pronunciation ?
bit-bet, did-dead, hid-head, lid-lead,
miss-mess, pin-pen, lock-luck

1)

Vowels

(2)  Stress and intonation
() - Contrastive pairs
(4)  Comparable pairs

Words which one recognizes when on¢
hears or sees them are

(1)  Explicit vocabulary
(2)  Implicit vocabulary
(3)  Productive vocabulary
4) Recepﬁve vocabulary




F———-—f

o1l

(59)
-V

yr - 11

fe=t

fere e g a |

e« T W - v (4, 1212 150) 3 e 35 IR o 1 G

7f2 32 wrer - 1=

T TR B T T (A,
I;IﬁIZSW)ﬁmmmaﬁm
A
gl 9 TR IS g o | SE feedt
¢ OTEE TR I i ok W N v
fere R IS ¥ A AR B 1w Y o
st W A e ¥ Fewe s H)

a‘]‘ﬁ.—

g IgA HT T A R - T A A |
e SaEE B Ao = & | fig o
ﬁmﬁm%mﬁ@ﬁ@ | 391
y-dt M & R w3 o 9, TR
3 ueft frm g0 W ot € giRa 8, fafer
ol % M 1 391 OIS T § | 3 A
#ft via 78 @, ] s ew o ek
@ %@ forn | 9 At ad-at ) aAn o,
T % T TR Y T U1 | 36 R A
et arreher g o7 | ¥R Ve R, A=
| wg | 3 30 g A 3R T

74 & i o o 3 wo1 g oA e TR |
TR amf, RfwwE g o2 | 39
| TR ) TeEEE & T eI-aA 7 9§ o
g §, 7 I R e 2 1 @ RR
THW ST 2 | R wig-Fig T R |
. ¥y gy o 5w e o R
T F S B W FA F 7w R
S | -
M | 3w g, g A T
TR it i T 38 @ 2 | T 3R o
IR e 7 g | g 7 e e

e 3 915 R o A B | e

|
|
|
|
|
|
|
|
|
l
|

wgaﬁaaa—ﬁlazwwﬁ

9 gt @ | g
3k T=2A W .

= Al
el
?Wﬁﬂﬂﬁﬁﬂ'ﬂﬁﬂﬂ'—ﬂﬂ'aﬁ
e MR Y -
ml?ﬁlﬁﬁ—s’tmmﬁaﬁﬁmﬁmﬁm
& T 8 | R 98 9 QT &, I
—qzsa:ﬁﬁiﬁfﬁa?aﬁi.ﬁﬁm
g R # e SR

Fiedi

T A T
%aﬂtm@ﬁ

S, T AH 9 T 3 HE & forn
e |
121, et e 3§ T Yeg HEE: § -

(1) 7, §aAH

@ 3w, i

@3) fds, fasm

(4) T, faerss

‘N frgtam |
374 9 N R 6l YT ST
(1) WEYHNHE

() TENAFSE

(3) Al IRH

@) wERH

122.

123, R % 92 qhag

e B i
(1) I

2) THad

(3) Em

@) YeaEs




o | (60) Py

W @l UG B Ty
R i gl R i W)%aa?%u?m(m
(1) 38 5o S 6 w@reeaa i ot | gﬁgﬁﬁq' ™
(2) 38 H e =1 swmor B o | mﬁ%_ﬁ%mﬁmww%
() I I Rmwar oft | . mﬁ@i@qﬁq@ﬁﬁﬁmﬁm,%
BORRCE S P C T T T o TS 3 et 3 4y,
, - a1 ey R F B | gy
125. “SRuRm A ... gl T @ o = i, s Tee & S 3 fig
. SR~ ‘ N T W I Rre o s 5
(1) 3TE 3 e, a7 a1 @ | mléqﬂ-“ga‘;?ggﬁaﬁg%ﬂt
(2) o T, ore T wE | Tl % I 1 3 %
Py R i Y | et TR i e, ety
’ - frafera & v 2 | Al R AR i
@ mmw,aq‘aqﬁa‘gnl 1 o et 78 3l | |
126. W F AR PR s w iR | T Sifaa & @t Hfeat, st anon
AR 3 3 o i ek v s €| T5g T R, A s s a
TR . ‘ mqgﬁa‘rgm-ﬁ‘mﬁa%;ﬁgﬁgqg
T A w%mﬁlwaﬁwmw
() =EREFAIED g% ag%f%ﬁ%mgzﬁéﬁazﬁﬁ:mﬁwﬁah
(i) & 3E amuR AE R | e STRTIET 61 T HTawas B 2 5 g
(i) TEgEdgad| - e % g, SR agi et ¥ ot gem
) (i) 39K Giip) ' ‘f&@ﬁﬁ@wﬁwm%ﬁﬁm
@ ¥ i) , 2 1 G S Y T o B R | s
X aﬁtwﬁaﬂﬁrﬁm,‘mﬁm
(3) % (i) 1 A T ¥ ot frer s 2 | e @
@ (@) 3R i) | TR T A R e e e @ o
- 127. €19 @R @, a9 dNEm o v @“@Waﬁﬁm?ﬁtmsﬁﬁﬁmmﬁ
] ) “ETS MR AT ... ST |
HIfH — | N
FHA R B =R e WA
(1) :mmgl%'mmwﬁmﬁ wwﬁmmgﬁﬁmﬁ

SRS Teqd 9 | R g A

(2) T % Tt 8 Ig T e | mmﬁg,mquﬁﬁ

i
3) - I HTE e # ff 3gq | Wﬁﬁ?@iﬂ@iaﬁm%%{
0 HeiniEpb LS e Rt e o 35 ol 9
(4) I8 =gd U By | g wwammmﬁmmm
128. T % ST 1 FSFH T @1, iR - | ﬁﬂ%ﬁm%.ﬁ%@aﬁamg
o e | e
) Fﬁna‘fq?ﬁﬂmrﬂﬁmam—g ﬁﬁ?ﬁmmﬁﬁ _r wﬁﬂm
L - N D ¥ | g
e T S A | Ik R
By | ARy,
wranl ; |




R 3 B 5T vt W -
0y @‘@ﬁﬁéﬁqﬁ-{qﬁﬁ |

(@ T BwE o TR @ s
BT ET | |

() WA TH-wEEE
@ 7T o R iR s

130.‘ﬁm’w%mmm

Bl 3T Sl Y AR qot § giedy

(1) 38 wfo FEEyf veifa 53 |
(2) o W IRl W d g |
(3) 39 g < |

4) SMuwRFgE-gE A=)
B figrt § yu-sta & R ® 77 T
Tl % WY Hiet hY Rrpaa T8 = -
Hiifeh & ST & 6 - i

(1) TSNty Hemafi & SEATEl veaT # |
(2) R s A 3 aned @ |
3 gEivaugERami |

@) Frsda=EREIEl

B3, et st sty s TR 7

(1) Sifeh i qr-shFRga R TS |

(2) NETFTHI WA E |

3) R AFAEIR |

@) St o wemal @ g MW
& & |

Y. S e 2 B el w1 AR

WeE-

() gm0 gfenior seemn

) = ggg FO %1 HEw T

Q) & die - fire

@) zaR ot § s ey w e

00|

A T —— —— T —— —_— —— ——— VA —— ————

A ' . 6
fz%ﬁwmmi%mmﬁ

0

135, w ¥ TR Ig a2 5 -

(1) Hodi =G g0 AT & afera |
() Feil & Ay i T |

@) s iaggEdge® |
(@) o e % i g =t 9 |

fdw - ﬁﬁqwmﬁ%mmaﬁa

136.

137.

138.

139.

fershe o =7 hifore :

WY HGA - Wﬁﬁmﬁm:ﬁn

HIRFIqY S & waifies et

(1) e, i iR Tee e

@) @& mmf%aﬁ%m%@m

(3) =& fiie wg aiEw %1 3ggm

(4) UII-TEdS & A

FA T R g AR T a F

33 Y9 vort @ W3 € | I @ sk

qHE W iy Ty =AW @ siew 3@ R

TEhiohd TR 7* 98 Y - |

(1) S=RRBEHRHJonad |

(2)  STEUHI g S T T e |

(3) &R I gfrn 3w B e |

(4) "= HTUagaRa? |

LGRS - =1

I HE! R & -

(1) W e ot ¥ oifm

: AT |

2) "W A oigwsnt § trfti%m
HAT |

Q) =ww F fay fram 5 w@n
FEM | ‘

4) Tt seas @ T vafRml @
afeRra T |

memm%wﬁam
AT AL N -

() S TmaRmaddand |

@) TR | —

3) SN == R Fewn, g B
TEEIEA ¢ |

@) < 7= B gedE F R i
HFAE |




0

140,

141.

142,

143,

144.

(62)
T R Y yp R - dm | 1S
Tefaren, N AR @ WG|
e Rawi ot ar e o 7 O 0B
F@IM @ Hw % fafe
Hex & waifs wegayv 2 |
- (1) 3™
(2) forE
() =W 146.
(4) 3EEy |
I TUE 'R W = B g
ez 6 3R & S-w1 7 weihs
TR ?
© (1) EH WAIHR B 9o S o
iz 7
@ W T v WA e e 147
U1 % T I TR FaTEn |
() TUHIA % 9 § WS s e
iR o
4) TWHARATEE S EH-AEERE? |
et Hiew 3R T e w3 3 s
T AR B - 148,
(1) wHIYEy
@) W R
(3) W Sfeear
(4) TN Hied
et Hfaar @ = ¥
mmm%_yﬁ fore e | 149,
(1) == 1 TR w0 7 e | l
(3) == T W 7 3 g | i
(4) ﬁﬁm-mmm
T | | o
g T R 2005 wr R gy |
%__Wmmmmwﬁl I 150,
(1) 9™ | |
2) ¥ |
(3) ~fam |
4) R \L

T 316 % R T oor = = #0
M T8 o Y i v /807
(1) E=-dmiy

(2)  y-uah f’

() 9wy )

@) -

A ey A A

| TR EA T -

(1)
()
(3)
(4)

RISk
OISTC
-ty
AT



YouTube Daily Class Schedule

Time
8:30:00 AM

(CTET, REET, UPTET, KVS, SUPER TET)

Mon \Tue Wed

Math

Math Math

Thurs \
Math

Fri
Math

Sat
Math

Sun
Math

10:30 AM

Hindi

Hindi Hindi

Hindi

Hindi

Hindi

Hindi

12:00 PM

English
Pedagogy

English
Pedagogy

English
Pedagogy

1:30 PM

Science

EVS

EVS

EVS

EVS

6:00 PM

Social
Studies

Social
Studies

Social
Studies

6:30 PM

Reasoning

Reasoning

7:30 PM

Social
Studies

8:30:00 PM

CDP

Gradeup Free Series Schedule

Time

8:30:00 AM

(CTET, REET, UPTET, KVS, SUPER TET)

Maths

Maths

Maths

10:30 AM

Hindi

Hindi

Hindi

12:00 PM

Sanskrit

Sanskrit

Sonia (Eng
Pedagogy)

1:30 PM

Science

EVS

EVS

EVS

4:30 PM

English

English

English

6:00 PM

Social
Studies

Social
Studies

Social
Studies

Social Studies

6:30 PM

Reasoning

Reasoning

Reasoning

Reasoning

8:30:00 PM

CDhP

CDhP

CDP

CDP




Candidates who succeeded with Gradeup

Toppers of
352 CTET 2019 Course

Gpapitlins o Ul

©0 ¢

SHWETA RAI SONAM TOMAR SHIKHA SINGH

204000179 197013667 198079981
P1-126 P1-124 P1-120,P2-108

DEEPTI SINGH SATYAM KUMAR

144026747 144024787

P1-123,P2-123 P1-122,P2-116
-
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= CTET Paper -2 § CTET Paper - 2 _
KVS PRT 2021 KVS TGT 2021 UPTET Paper-1
UPTET Paper-2 B UPTET Paper-2
_ REET Level -2 REET Level -2
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